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100
110
120
130
140
150
160
180
185
190
200
205
210
215
220
225
230
240
250
260
999

AMAWUIN N.

TUTHATUNITIARINITAENABU A

OPTICAL POWER MEASUREMENT

for Anrisu ML93B

19/07/1991 by Suwat Sopitpan

Do T T

CONSOLE .0,25,051 : _Oi8 : OPTION BASE 1
DELAY = 9000 s SOSEEECY A4 ;0 DOG = 4

DIM A$[18]

DIM A(200), C(200)

DIM WLENGTH(200) , CONTENT(200)

*SHOW

CONSOLE 0,25,0,1 3 CLS

IF ( SELECT = DOG ) GOTO 990

GOSUB *MENU

*LOOP1

LOCATE 15,20 : COLOR 7  : - INPUT "Select : ",SELECT
ON SELECT GOSUB *OPTICAL, *FSAVE, *EPSON, *BYE

GOTO *SHOW
> |

1000 *DATSET e DATA SET —=———==———— !
1010 WLI = 400 ’initial wavelength > 400 nm <

1020 WLF = 800 ’final wavelength > 800 nm <

1030 WLS = 10 'step > 10 nm <

1040 RETURN

1050 ’

1070 *DEVZERO e DEVICE ZERO SETTING —-———————- 2

1073 GOSUB *DEVSET

1075 LOCATE 30,20 : COLOR 5

1077 WRITE "Please wait" : FOR I = 1 TO 999 : NEXT I
1078 ’'LOCATE 30,20 : COLOR 4

1079 ’WRITE "Please wait" : FOR I = 1 TO 999 : NEXT I
1080 PRINT @15; "Z" ’zero setting

1090 INPUT @15; A$

'wait for zero setpoint

1100 LOCATE 30,20 : COLOR 2

1110 WRITE "Zero set ready" : FOR I = 1 TO 4000 : NEXT I
1120 GOSUB *DEVRESET

1330 °*

1140 RETURN

11007

1160

1170 ISET IFC

1180 ISET REN

1190 CMD DELIM = O
1200 RETURN

*DEVSET et DEVICE SET IEEE CONTROLLER —————————

. W e e .



1210
1220
1230
1240
1250
1260
1270
1280
1285
1290
1300
1310
1320
1330
1335
1337
1340
1350
1352
1355
1357
1360
1370
1380
1385
1390
1400
1410
1420
1430
1440
1450
1460
1500
1510
1520
1530
1540
1550
1600
1610
1620
2000
2010
2020
2025
2027
2030
2040
2050
2060
2070
2080
2090
2100
2110

87

; g

*DEVRESET ’-——————- RESET TO LOCAL CONTROL —————————- i
IRESET REN

RETURN

3

!

]

*MEASURE i e measure ’

1

CLS : COILOR 4 : LOCATE 10,9

PRINT "-- Optical measurement --" : COLOR 5
LOCATE 10,11 : INPUT "Start wavelength : ",INIT
LOCATE 10,13 : INPUT "Stop wavelength : ",B
GOSUB *DEVSET : GOSUB *SETPARA

LOCATE 10,15 : COLOR 6 : PRINT "WAVELENGTH POWER"
N = .F = A(N) = INIT

*LOOP2

INPUT nn, 7$

INPUT @15; A$ : GOSUB *TOOD

B$ = MID$(A$,2,1) : C(N) = (ASC(B$)-79)*(-3)

B$ = "1E" + STR$(C(N)) : C(N) = VAL(MID$(A$,7,6)) * VAL(B$)
LOCATE 12,17 : COLOR 2 : PRINT A(N), C(N)
N=N+1 : A(N) = A(N-1) + 10

IF A(N) > B THEN *EXIT2

' FOR I =1 TO DELAY : NEXT I

GOTO *LOOP2

*¥EXIT2

BEEP 1-°: FOR C = 1/ TO DELAY' : NEXT C : BEEP 0O
; v

MAXOPT = N-1

GOSUB *DEVRESET

RETURN

b

*SETPARA R measure parameters ——-—-—--- g
PRINT @15; "D+0000" ’CAL.FACTOR

PRINT @15; "cCO" 'WATT

PRINT @15; "F1" ’FREE RUN

PRINT @15; "B" ’AUTO RANGE

b

: |

RETURN

b

*¥OPTICAL

CONSOLE 6,24,0,1 : CLS

COLOCR 4

LOGATE. 20,6 = PRINT - " . .OPTICAL.: . "

COLOR 6

LOCATE 20,8 : PRINT "1. Zero power set"

LOCATE 20,9 : PRINT "2. Start measurement'
LOCATE 20,10: PRINT "3. Quit to main"

)
’

’

LOCATE 20,14 : COLOR 7
INPUT "Select : ",SELECT



2120
2130
2140
2150
2160
2170
4400
4410
4420
4430
4440
6050
7000
7010
7020
7030
7050
7060
7065
7070
7080
7090
7100
7140
7150
7160
7170
7300
7310
7320
7330
7340
7350
7360
7370
7380
7390
8050
8500
8510
8512
8520
8530
8540
8550
8560
8570
8575
9000
9010
9020
9060
9280
9290
9300
9310

ON SELECT GOSUB *DEVZERO, *MEASURE

IF SELECT = 3 THEN *OPTICEND
GOTO *OPTICAL

*OPTICEND

RETURN

’

*TOOD

BEEP 1

FOR:TD = 1 TO 500 : NEXT TD
BEEP 0O

RETURN

b

*FSAVE

COIOR 3 : CLS “: ILOCATE 20,9
PRINT "--- Save data to disk ---"
COLOR 5 : LOCATE 10,11

LOCATE 20,12 : INPUT "File name : ",F$

LOCATE 20,13 : INPUT "Comment : ",COMMT$

*SAVEASK

LOCATE 20,16 : INPUT "Sure (1), Not correct (2) or Quit (3)
ON ASK GOTO *GOSAVE, *FSAVE, *EXITSAVE

GOTO *SAVEASK

*GOSAVE

EXTENS - = ".opt"

FOR I = 1 TO MAXOPT

WLENGTH(I) = A(I) = CONTENT(I) = C(I)
NEXT I

*SAVEFILE

FILE$ = F$ + EXTENS

OPEN FILE$ AS #1

WRITE #1 , COMMT$, I-1

FOR N =1 TO I-1

WRITE #1 , WLENGTH(N), CONTENT(N)

NEXT N 3

CLOSE #1

¥EXITSAVE

RETURN

b}

*EPSON

I_LPRINT " "
LPRINT "————- Optical power MA97B ——---—- "
LPRINT " Wavelength [nm] Power [watt] "
I_\PRINT " ”
FOR N = 1 TO MAXOPT

LPRINT A(N), C(N)

NEXT N

RETURN

b

*BYE

SELECT = DOG s L CLS

RETURN

) |

*MENU : CLS

COLOR 5 : LOCATE 10,3

PRINT " OPTICAL POWER MEASUREMENT

COLOR 2 : LOCATE 10,5

88
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9320 PRINT "

9330 LOCATE 20,8 : COLOR 3
9360 PRINT "1. Start measurement"
9370 LOCATE 20,10 .

9420 PRINT "2. Store data to disk"
9430 LOCATE 20,12

9460 PRINT "3. Print data to printer"
9465 LOCATE 20,14

9467 PRINT "4. Quit"

9470 RETURN
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ATARURIN A,

o e o 4 o 4
TUTUATHNTIAA NEALANLIATA L TARUAIDINAATIUAA 1IN

1000 3 seskskskskskokskokskokskksk sk skkoskskokskkkokkk ok kskk ok kksk sk kskok ok skskokskokskokskokskokskk ok sk ok
1010 i : *
1020 ' % CURRENT(J )-VOLTAGE(V) CHARACTERISTICS (dark) ¥
1030 ? % *
1040 'k BY 4140B pA METER / DC VOTAGE SOURCE *
1050 'k (SUBDIRECTLY STRUCTURE FILE VERSION) *
1060 ) kR kkkkk kR kR Rk kR kokkkkskokokskk ko kokkkkkkkkkkkkkkokk
1070 1 :

1080 ’ Latestly edited in 91/07/10 by SUWAT SOPITPAN

1090 {

1150 ! MAIN PROGRAM

1160 CLEAR ,,,&H6D6

1170 GOSUB *DATASET

1180 *MAIN

1190 CLS 3:CONSOLE 0,25,0,1 :SCREEN 3,1

1200 COLOR 6 :LOCATE 19,3 :PRINT "s¥¥x*¥I-V CHARACTERISTIC¥***%x"
1210 COLOR 5:LOCATE 28,5 :PRINT "TASK SELECTION"

1220 LOCATE 24,7 :PRINT " AUTO MEASUREMENT"

1230 LOCATE 24,8 :PRINT " DATA TREATMENT"

1240 COLOR 2:LOCATE 24,10:PRINT"PRESS YOUR CHOICE NUMBER" : COLOR 5
1250 COLOR@ (24,7)-(25,8),2

1260 COLOR 4 :LOCATE 18,15 :PRINT "<Function key information>"
1270 LOCATE 17,17 :PRINT "[f.8]--Change directly"

1280 LOCATE 17,18 :PRINT "[f.10]--Make new directly"

1290 *LOOP1 : C$=INKEY$

1300 IF C$="" THEN *LOOP1

1310 IF C$="1" THEN GOSUB *MEASURE

1320 IF C$="2" THEN GOSUB *DATATRE

1330 GOTO *MAIN

1340 END

1350 °’

1390 '’ DATA SET

1400 *DATASET :C1=LOG(10)

1410 DIM IPXLAB(50),IPYLAB(50),XLAB(50),YLAB(50),SIG(1000)

- 1420 DIM PS(1000),TS(1000),X2(12),X4(12),P(1000),T(1000)

1430 DIM XLAB$(50),YLAB$(50),A1$(500),BB$(500),IX(1000),IY(1000)
1440 ON KEY GOSUB *K1,*K2,*K3,%*K4,*K5,*K6,*K7,*DIRCH, *K9, *DIRMK
1450 KEY(8) ON :KEY(10) ON

1460 FOR M=2 TO 12 :X2(M)=2%(M*M*M/3+M*M/2+6) :NEXT M

1470 FOR M=2 TO 12 :X4(M)=2%(M¥M*M*M*M/5+MXM*XM*¥M/2+M*M*M/3-M/30)
1475 NEXT M

1480 PS=0 :PT=1 :PE= .01 :BOS= 1 :PD= .1 :ARFA=1

1490 DvV$="A:"

1500 YTIT$="Current (Amp)": XTIT$="Voltage (V)"

1510 RETURN

1520 °’



1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930

*SMOOTH

CLS 1 :COLOR>H

*SM1 : LOCATE 21,5 :INPUT "Smoothing Points (5<=odd<=25)";NS
IF (NS MOD 2—0) OR (NS<5) OR (NS>25) THEN *SM1
FOR I=1 TO ITOT :TS(I)=T(I) :NEXT I
M=(NS-1)/2

FOR I=1+M TO ITOT-M

SUM0O=0 :SUM1=0

FOR J=-M TO M
SUMO=SUMO+P(I+J)*(X4(M)—X2(M)*J*J)
SUM1=SUM1+P(I+J)*J

NEXT J
'PS(I)=(SUM1/X2(M))/(SUMO/(NS*X4(M)-X2(M)*X2(M)))
PS(I)=SUM1/X2(M)

NEXT I

IE=1

FOR I=14+M TO ITOT-M

P(IE)=PS(I)

T(IE)=TS(I)

IE=IE+1

NEXT I

ITOT=ITOT-2*M

RETURN

. DATA TREATMENT

*¥DATATRE:CLS 3

COLOR 6:LOCATE 27,0

PRINT "#*** DATA TREATMENT ***"

COLOR 5:LOCATE 31,2:PRINT "MODE SELECTION"
LOCATE 27,4 :PRINT "1 DATA DISPLY"

LOCATE 27,6 :PRINT "2 FILE MANAGEMENT"
LOCATE 27,8 :PRINT "3 GO TO TASK SELECTION"
LOCATE 27,10:PRINT "PRESS YOUR CHOICE NUMBER"
COLORe (27,4)-(27,10),2:COLOR@ (27,10)-(51,10),2
*LOOP100:C$=INKEY$

IF C$="" THEN *LOOP100

IF C$="1" THEN GOSUB *DIRCH :*DATADISP
IF C$="2" THEN *FILEMANA
IF C$="3" THEN RETURN

GOTO *DATATRE

1940 °’

1950
1960
1970
1980
1985
1990
2000
2010
2020
2030
2040
2050
2060
2070

! DATA DISPLY
*DATADISP
CONSOLE 0,25,0,1 :CLS 1 :COLOR 7
COLOR 5: ’ GOSUB *FILEREF
LINE INPUT "FILE NAME : ",FILE$
GOSUB *MYLOAD
FC$=FILE$+"//"+COMMEN$
IF IRE=1 THEN *MYLOAD
GOSUB *LDDISP
'GOSUB *TUNNEL
*DISPLY
FOR I=1 TO ITOT
P(I)=ABS(P(I)) :T(I)=ABS(T(I))
NEXT I
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2090
2092
2094
2100
2102
2103
2105
2108
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400
2405
2410
2420
2430
2440
2450
2460
2465
2467
2470
2480
2490
2500
2510
2520
2530
2540
2550

GOSUB *MINMAX
GOSUB *XYDTMN
GOSUB *COMGRA

GOSUB *CRT
’GOSUB *SDATA
GOSUB *HC

]

GOTO *DISPLY
b

’

MINMUM AND MAXMUN

92

*MINMAX :PMAX=-1E+30 :PMIN=1E+30 :TMAX=-1E+30 :TMIN=1E+30
FOR I=1 TO ITOT
IF P(I)<PMIN THEN PMIN=P(I)
IF P(I)>PMAX THEN PMAX=P(I)
IF T(I)<TMIN THEN TMIN=T(I)
IF T(I)>TMAX THEN TMAX=T(I)

NEXT I

'TMIN=VSTA :TMAX=VSTO
’IF BOS=0 THEN TMIN=-VSTO

*XYDTMN

CONSOLE 0,25,0,1 :CLS 1 :COLOR 7

PRINT "XMIN="
PRINT "XMAX="
PRINT "YMIN="
PRINT "YMAX="
LOCATE 16,0
LOCATE 21,2
LOCATE, 21,3
LOCATE 21,4
LOCATE 21,5
LOCATE :21,6
LOCATE 21,8
LOCATE 21,9
LOCATE 21,10:
LOCATE 21,1153

XMIN,XMAX, YMIN, YMAX DETERMINATION

s TMIN
; TMAX
s PMIN
s PMAX

:PRINT
:PRINT
:PRINT
+PRINT
:PRINT
:PRINT
:PRINT
:PRINT

PRINT
PRINT

:COLOR 6
"PLOTTING TASK

"ID
"O
"1
H2
"3
"4
"5
"6
"7

X-axis

LINEAR
LOG

LINEAR
LOG

FORMFEED

and MODE SELECTION"

Y-axis" :COLOR O
LINEAR"

LINEAR"

LoGg"

LoG"
New Ref. Loading "

GOTO STOREDATA "

NEXT MEASUREMENT"

1"

:COLOR 5

COLORe (21,3)-(21,11),2 :COLOR® (25,3)-(45,11),5 :COLOR 5
LOCATE 11,12 :INPUT "Type ID # to choose ITEM ";IOPO
IF (IOP0<0) OR (IOP0>7) THEN *XYDTMN

IF I0PO=4 THEN RETURN *DATADISP

IF IOPO=5 THEN GOSUB *STOREDATA :RETURN *DISPLY
IF IOPO=6 THEN RETURN *MEASURE
IF IOP0=7 THEN LPRINT CHR$(12)
IF IOPO>3 THEN *XYDTMN
IOP11=IOPO MOD 2

IOP12=I0P0 ¥
*JUMP11

LOCATE 21,14
LOCATE 21,15
LOCATE 21,16
LOCATE 21,17

COLOR@ (21,14)-(55,14),7 :LOCATE 55,14 :PRINT SPC(20)

2

:PRINT "X-Axis From (
:PRINT "
:PRINT "Y-Axis From (
:PRINT "

To

To

LOCATE 55,14 :INPUT "";XMIN$

(
(

2
?
2
2

)" ;TAB(41) ; TMIN
)" ; TAB(41) ; TMAX
)" ; TAB(41) ; PMIN
)" ; TAB(41) ;PMAX



2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
2760
2770
2780
2790
2800
2810
2820
2830
2840
2850
2860
2870
2880
2882
2885
2890
2900

2910
2920

2930
2940
2950
2960
2965
2970
2975
2980
2990
3000
3010
3020
3030
3040
3050

IF XMIN$="" THEN XMIN=TMIN ELSE XMIN=VAL(XMIN$)
LOCATE 39,15 :PRINT SPC(1) :COLORe@ (21,14)-(79,14),5
COLOR@ (21,15)-(55,15),7 :LOCATE 55,15 :PRINT SPC(20)

LOCATE 55,15 :INPUT "";XMAX$

IF XMAX$="" THEN XMAX=TMAX ELSE XMAX=VAL(XMAX$)
LOCATE 39,15 :PRINT SPC(1) :COLOR@ (21,15)-(79,15),5

IF XMIN>=XMAX THEN *JUMP11

IF (IOP11=1) AND ((XMIN<=0) OR (XMAX<=0)) THEN *JUMP11
*JUMP12 :COLOR@ (21,16)-(55,16),7 :LOCATE 55,16 :PRINT SPC(20)

LOCATE 55,16 :INPUT "";YMIN$

IF YMIN$="" THEN YMIN=PMIN ELSE YMIN=VAL(YMIN$)
LOCATE 39,16 :PRINT SPC(1) :COLOR@ (21,16)-(79,16),5
COLOR®@ (21,17)-(55,17),7 :LOCATE 55,17 :PRINT SPC(20)

LOCATE 55,17 :INPUT "";YMAX$

IF YMAX$="" THEN YMAX=PMAX ELSE YMAX=VAL(YMAX$)
LOCATE 39,17 :PRINT SPC(1) :COLORe (21,17)-(79,17),5

IF YMIN>=YMAX THEN *JUMP12
IF (I0P12=1) AND ((YMIN<=0) OR
LOCATE 15,22 :COLOR 4

(YMAX<=0)) THEN *JUMP12

PRINT "Crear this figure?(1l) or not(2) "

*¥LOOP302 :A$=INKEY$
IF A$="" THEN *LOOP302
CORN=VAL(A$) :CNUM=3

IF CORN=2 THEN CNUM=1 ELSE CNUM=3

RETURN

———————— HARD COPY THE GRAPH ON CRT or NOT -——————-
*HC

LOCATE 50,3 :PRINT "*¥%%%* Hard Copy ****x"

LOCATE 50,4 :PRINT "DATA ~ = =—————o (13"
LOCATE 50,5 :PRINT "Figure and Inform. —-———-—-— (2)"
LOCATE 50,6 :PRINT "PLOTTER | = —=———o (3)"
LOCATE 50,7 :PRINT "DATA to RS232 --—-(4)"
LOCATE 50,8 :PRINT "INFO & DATA to RS232 ---(5)"
LOCATE 50,9 :PRINT "Not @ = —————— (RETURN)"
*LOOP300 :A$=INKEY$: IF A$="" THEN *LOOP300

IF A$="1" OR A$="2" THEN LPRINT SAMPLES$;SPC(5);COMMEN$

;SPC(15) ;DATTE$ :LPRINT FC$

IF A$="1" THEN GOSUB *PRDATA

IF A$="2" THEN LPRINT CHR$(27);"G" :CHILD '"HCOPY"

:LPRINT CHR$(27);"H"

'IF A$="1" OR A$="2" THEN LPRINT CHR$(12)

IF A$="3" THEN GOSUB *PLOTTER :RETURN

IF A$="4" OR A$="5" THEN OPEN "com:n81xn" AS #2 ELSE RETURN
IF A$="5" THEN GOSUB *INFOTRAN

GOSUB *DATATRAN

CLOSE #2

RETURN

——————————— COMMON GRAPHIC ROUTINE ON CRT AND PLOTTER —-—————-—

*COMGRA

ZMAX=XMAX

ZMIN=XMIN

IOP1=I0P11

GOSUB *SCALE

I0PX3=I0P3

TOPX4=10P4
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3060
3070
3080
3090
3100
3110
3120
3130
3140
3150
3160
3170
3180
3190
3200
3210
3220
3230
3240
3250
3260
3270
3280
3290

3300
3310
3320
3330
3340
3350
3360
3370
3380
3390
3400
3410
3420
3430
3440
3450
3460
3470
3480

3490
3500
3510
3520
3530
3540
3550
3560
3570
3580
3590

NXT=NZT
XORG2=ZORG2
XT=ZT
ZMAX=YMAX
ZMIN=YMIN
I0P1=I0P12
GOSUB *SCALE
IOPY3=I0P3
IOPY4=I0P4
=NZT
YORG2=ZORG2
YT=ZT
RETURN
b
4 SCALING SUBROUTINE
*SCALE
IF IOP1=1 THEN *JUMP13
LZ=INT(LOG(ZMAX)/C1)
Zr=10"L7
IZORG1=INT(ZMIN/ZT)
ZORG1=ZT*IZORG1
IZORG2=INT (ZMAX/ZT)
ZORG2=ZT*IZORG2
IF CINT(IZORG2)<>CINT(ZMAX/ZT) THEN IZORG2
: ZORG2

IZORG2+1
ZORG2+ZT

GOTO *JUMP14

*JUMP1 3 :0Z=LOG(ZMAX ) /C1

IZORG2=INT(0OZ)

IF IZORG2<>0Z THEN IZORG2=IZORG2+1
IZORG1=INT(LOG(ZMIN)/C1)

ZORG2=IZORG2

ZORG1=IZORG1

Zr=1

*JUMP14

I0P2=1

NZT=IZORG2-IZORG1

IF (IOP1=0) AND (NZT=1) THEN ZT=ZT*.1:NZT=10

IF (IOP1=0) AND (NZT=2) THEN IOP2=2

NZT=NZT*IOP2

ZT=ZT/IOP2

I0P3=1

IF (IOP1=0) AND ((NZT>5) OR (IOP2=2)) THEN IOP3=2
10P4=1

IF (IOP1=0) AND (IZORG2 MOD 2<>0) AND

(IZORG2-IZORG1<>1) AND (IOP3=2) AND (IOP2=1) THEN IOP4=2

RETURN

2

’ - PLOT ON CRT
*CRT

IPXORG1=116

IPXORG2=388

IPYORG1=340

IPYORG2=10

CONSOLE 0,25,0,1 :SCREEN 3,0,0,0 :COLOR 7,0,0,5
IPXTIT=( IPXORG1+IPXORG2 )*.5-LEN(XTIT$ )*7
IPYTIT=( IPYORG1+IPYORG2 )*.5-LEN(YTIT$ )*10
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3600
3610
3620
3630
3640
3650
3660
3670
3680
3690
3700
3710
3720
3730
3740
3750
3760
3770

3780
3790

3800
3810
3820

3830
3840

3850
3860
3870
3880
3890
3900
3910
3920
3930
3940
3950
3960
3970
3980
3990
4000
4010
4020
4030
4040
4050
4060
4070
4080
4090
4100
4110

PXT=( IPXORG2-IPXORG1 ) /NXT

FOR I=1 TO NXT+1

IPXLAB( I)=IPXORG2-PXT*(I-1)

XLAB$ (I )=STR$ (XORG2-XT*(I-1))

*IF IOP11=1 THEN XLAB$(I)="1E"+XLAB$(I)
NEXT I

PYT=( IPYORG1-IPYORG2 ) /NYT

FOR I=1 TO NYT+1
IPYLAB(I)=IPYORG2+PYT*(I-1)
YY=YORG2-YT*(I-1)

IF ABS(YY)<1E-12 THEN YY=0
YLAB$(I)=STR$ (YY)

NEXT .1 -

A=PXT/XT:B=PYT/YT

FOR I=1 TO ITOT

IF IOP11=1 THEN *JUMP15
IX(I)=IPXORG2+(T(I)-XORG2)*A :GOTO *JUMP16
*JUMP15

:IF T(I)<=0 THEN IX(I)=IPXORGl :GOTO *JUMP16
IX(I)=IPXORG2+(LOG(T(I))/C1-XORG2 )*A
*JUMP16

:IF (IX(I)<IPXORG1l) OR (IX(I)>IPXORG2) THEN IX(I)=IPXORG1l

IF I10P12=1 THEN *JUMP17
IY(I)=IPYORG2-(P(I)-YORG2)*B :GOTO *JUMP18
*JUMP17 X

:IF P(I)<=0 THEN IY(I)=IPYORGl :GOTO *JUMP18

IY(I)=IPYORG2-(LOG(P(I))/C1-YORG2)*B
*JUMP18

:IF (IY(I)<IPYORG2) OR (IY(I)>IPYORGl) THEN IY(I)=IPYORG1

NEXT I :AAA=A :BBB=B

CLS CNUM :SCREEN 3,0,0,1

POINT (IPXORG2,IPYORG1)

FOR I=2 TO NXT+1

LINE -(IPXLAB(I),IPYORGl) :LINE -STEP(0,-8) :POINT STEP(O0,8)
NEXT I

FOR I=NYT TO 1 STEP -1

LINE -(IPXORG1,IPYLAB(I)) :LINE -STEP(4,0) :POINT STEP(-4,0)
NEXT I

FOR I=NXT TO 1 STEP -1

LINE -(IPXLAB(I),IPYORG2) :LINE -STEP(0,8) :POINT STEP(0,-8)
NEXT I

FOR I=2 TO NYT+1

LINE -(IPXORG2,IPYLAB(I)) :LINE -STEP(-4,0) :POINT STEP(4,0)
NEXT I

FOR I=IOPX4 TO NXT+1 STEP IOPX3

A=LEN(XLABS$(I))

IF I0P11=1 THEN *JUMP19

PXL=8%A%.5

FOR J=1 TO A

A2$=MID$ (XLAB$(I),J,1)

PUT (IPXLAB(I)-PXL+8%(J-1),IPYORG1+6),KANJI(ASC(A2%)),PSET
NEXT J

GOTO *JUMP20

*JUMP19 :PUT(IPXLAB(I)-15,IPYORG1+13),KANJI(49),PSET

PUT (IPXLAB(I)-7,IPYORG1+13),KANJI(48),PSET

FOR J=1 TO A
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4120
4130
4140
4150
4160
4170
4180
4190
4200
4210
4220
4230
4240
4250
4260
42170
4280
4290
4300
4310
4320
4330
4340
4350
4360
4370
4380
4390
4400
4410
4420
4430
4440
4450

- 4460

44170
4480
4490
4500
4510
4520
4530
4540
4550
4560
4570
4580
4590
4600
4610
4620
4630
4640

4650
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A2$=MID$ (XLAB$(I),J,1)

PUT (IPXLAB(I)+7%(J-1),IPYORG1+5),KANJI(ASC(A2$)+256),PSET
NEXT J

*JUMP20 :NEXT I

AA=0

FOR I=IOPY4 TO NYT+1 STEP IOPY3

A=LEN(YLAB$(I))

IF A>AA THEN AA=A

NEXT I

FOR I=IOPY4 TO NYT+1 STEP IOPY3

A=LEN(YLAB$(I))

IF IOP12=1 THEN *JUMP21

PYL=8%A+5

FOR J=1 TO A

A2$=MID$ (YLAB$(I),J,1)

PUT (IPXORG1-PYL+8%(J-1),IPYLAB(I)-7),KANJI(ASC(A2$)),PSET
NEXT J

GOTO *JUMP22

*JUMP21 :PUT (IPXORG1-8*AA-15,IPYLAB(I)),KANJI(49),PSET
PUT (IPXORG1-8+*AA-7,IPYLAB(I)),KANJI(48),PSET"

FOR J=1 10K

A2$=MID$ (YLAB$(I),J,1)

PUT (IPXORG1+8%(-AA+J-1),IPYLAB(I)-8),KANJI(ASC(A2$)+256),PSET
NEXT J

*JUMP22 :NEXT I

A=LEN(XTIT$)

B=IPYORG1

IF IOP11=1 THEN B=B+38 ELSE B=B+30

FOR I=1 TO A

A2$=MID$ (XTIT$,I,1)

PUT (IPXTIT+14%(I-1),B),KANJI(ASC(A2$)),PSET,5,0

NEXT I

A=LEN(YTIT$)

B=IPXORG1-10-AA%*8

IF IOP12=1 THEN B=B-28

FOR I=1 TO A

A2$=MID$(YTIT$,I,1)

PUT (B,IPYTIT+17%(I-1)),KANJI(ASC(A2$)),PSET,5,0

NEXT I

FOR I=1 TO ITOT

HANKEI = 1 ’IF I>ITOT/2 THEN HANKEI=2 ELSE HANKEI=3

IF I>ITOT/2 THEN CCOL=1 ELSE CCOL=2
CIRCLE(IX(I),IY(I)),HANKEI,CCOL

NEXT I

LINE (IPXORG1,IPYORG2+BBB*YORG2 )-(IPXORG2,IPYORG2+BBB*YORG2),5
LINE (IPXORG2-AAA*XORG2,IPYORG1)-(IPXORG2-AAA*XORG2,IPYORG2),5
RETURN

g PLOT ON PLOTTER
*PLOTTER
ISET IFC :ISET REN
IPXMAX=3000 :IPYMAX=2750
IPXORG1=350 :IPXORGZ2=IPXORG1+1000
:IPYORG1=420 :IPYORG2=IPYORG1+1250
IPXDATE=IPXORG1-150 :IPYDATE=IPYORG2+450
: IPXSAM=TIPXORG1-150 :IPYSAM=IPYORG2+350



4660
4670
4680

4690
4700
4710
4720
4730
4740
4750
4760
4770
4780
4790
4800
4810
4820
4830
4840

4850
4860
4870
4880
4890
4900
4910
4920
4930
4940
4950
4960
4970
4980
4990
5000
5010
5020
5030
5040
5050
5060
5070
5080
5090
5100
5110
5120
5130
5140
5150
5160
5170
5180
5190
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IPXFAC=IPXORG1-150 :IPYFAC=IPYORG2+250
IPXA=200+2190 :IPYA=220+1200 :IPXB=200+2190 :IPYB=220+600
IPXEG=IPXORG1-150 :IPYEG=IPYORGZ2+150

: IPXEX=200+2120 :IPYEX=220+600

IST=60 :IQT=50 :IS10=50 :IQ10=30

ISEXP=30 :IQEXP=18 :ISL=50 :IQL=30

CLS 1 :COLOR 6 :LOCATE 26,1 :PRINT "FORMAT SELECTION" :COLOR 5
LOCATE 21,3 :PRINT "ID ITEM" :COLOR O

LOCATE 21,5 :PRINT "O Dot with Axes"

LOCATE 21,7 :PRINT "1 Line with Axes"

LOCATE 21,9 :PRINT "2 Dot without Axes"

LOCATE 21,11:PRINT "3 Line without Axes"

LOCATE 21,14 :PRINT "4 No Plot"

COLOR® (21,5)-(21,14),2 :COLORe (26,5)-(50,14),5 :COLOR 5
LOCATE 11,16 :PRINT "Type ID # to choose ITEM ;Press RETURN"
*¥LOOP301 :A$=INKEY$

IF A$="" THEN *LOOP301

IOP5=VAL(A$)

IOP51=I0P5 MOD 2 :IO0P52=I0P5 ¥ 2

IF IOP5>4 THEN *PLOTTER ELSE -

IF IOP5=4 THEN RETURN ELSE IF IOP51=1 THEN *JUMP23

CONSOLE 3,22,0,1 :CLS 1 :CONSOLE 0,25,0,1 :COLOR 0

LOCATE 21,4 :PRINT "O E"

LOCATE 21,6 :PRINT "1

LOCATE 21,8 :PRINT "2 e

LOCATE 21,10:PRINT "3 g2

LOCATE 21,12:PRINT "4 v

COLOR@ (21,4)-(21,12),2 :COLOR® (26,4)-(40,12),5 :COLOR 5
LOCATE 11,14 :INPUT "Type ID # to choose ITEM ";IDOT

IF (IDOT=3) OR {IDOT=4) THEN IDOT=7-IDOT

IF (IDOT=0) OR (IDOT=1) THEN IDOT=IDOT*4+1

IF IDOT=2 THEN IDOT=7

IF SIG(ITOT)=0 THEN *JUMP24

*JUMP23 :CONSOLE 3,22,0,1 :CLS 1 :CONSOLE 0,25,0,1 :COLOR O
LOCATE 21,4 :PRINT "0  —————— 4!

LOCATE 21,6 :PRINT "1 - == ="

LOCATE 21,8 :PRINT "2 ~%~%—%—""

LOCATE 21,10:PRINT "3 ~%%~%%~"

COLOR®@ (21,4)-(21,10),2 :COLORe (26,4)-(40,10),5 :COLOR 5
LOCATE 11,12 :INPUT "Type ID # to choose ITEM ";LINNE 8
IF LINNE=0 THEN LINNE=-1

LINNE=LINNE*2+2

*JUMP24 :LOCATE 21,16 :INPUT "Pen # ";IPEN

IPXTIT=( IPXORG1+IPXORG2 )*.5—-( (LEN(XTIT$ )-1)*IQT+IST*.57)%.5
IPYTIT=(IPYORG1+IPYORG2)*.5—-( (LEN(YTIT$)-1)*IQT+IST*.57)%.5
PXT=(IPXORG2-IPXORG1 ) /NXT

FOR I=1 TO NXT+1

IPXLAB(I)=IPXORG2-PXT*(I-1)

XLAB(I)=XORG2-XT*(I-1)

NEXT I

PYT=( IPYORG2-IPYORG1 ) /NYT

FOR I=1 TO NYT+1l

IPYLAB(I )=IPYORG2-PYT*(I-1)

YLAB(I)=YORG2-YT*(I-1)

NEXT I

A=PXT/XT :B=PYT/YT



5200 FOR I=1 TO ITOT
5210 IF IOP11=1 THEN *JUMP25
5220 IX(I)=IPXORG2+(T(I)-XORG2)*A
5230 GOTO *JUMP26
5240 *JUMP25 :IF T(I)<=0 THEN IX(I)=IPXORGl :GOTO *JUMP26
5250 IX(I)=IPXORG2+(LOG(T(I))/C1-XORG2)*A
5260 *JUMP26 :IF IOP12=1 THEN *JUMP27
5270 IY(I)=IPYORG2+(P(I)-YORG2)*B
5280 GOTO *JUMP28
5290 *JUMP27 :IF P(I)<=0 THEN IY(I)=IPYORGl :GOTO *JUMP28
5300 IY(I)=IPYORG2+(LOG(P(I))/C1-YORG2)*B
5310 *JUMP28 :NEXT I
5320 PRINT@ 16;""260,70,¥-260,-70,Z1750,2700,M",
IPXORG2, IPYORG1,",J1,L0"
5330 IF IOP52=1 THEN *JUMP61
5340 FOR I=2 TO NXT+1
5350 PRINT@ 16;"D",IPXLAB(I),IPYORG1,CHR$(3),"E0,20,0,-20",CHR$(3)
5360 NEXT I
5370 FOR I=NYT TO 1 STEP -1
5380 PRINT@ 16;"D",IPXORG1,IPYLAB(I),CHR$(3),"E20,0,-20,0",CHRS$(3)
5390 NEXT I
5400 FOR I=NXT TO 1 STEP -1
5410 PRINT@ 16;"D",IPXLAB(I),IPYORG2,CHR$(3),"E0,-20,0,20",CHR$(3)
5420 NEXT I
5430 FOR I=2 TO NYT+1 :
5440 PRINT@ 16;"D",IPXORG2,IPYLAB(I),CHR$(3),"E-20,0,20,0",CHR$(3)
5450 NEXT I
5460 TA10=IQ10+IS10%.57
5470 FOR I=IOPX4 TO NXT+1 STEP IOPX3
5480 IF IOP11=1 THEN *JUMP29
5490 A=LEN(STR$(XLAB(I)))
5500 PXL=IQL*A*,5
5510 PRINT@ 16;"M",IPXLAB(I)-PXL,IPYORG1+75-ISL-20,
" ,S",ISL,"‘,Q",IQL,",P"
5520 PRINT@ 16;XLAB(I)
5530 PRINT@ 16;CHR$(3)
5540 GOTO *JUMP30
5550 *JUMP29 :A=IPYORG1-ISEXP-20
5560 PRINT@ 16;"M",IPXLAB(I)-IA10,A-IS10,",S",IS10,",Q",IQ10,",P10"
5570 PRINT@ 16;CHR$(3)
5580 PRINT@ 16;"M",IPXLAB(I),A+IS10,",S",ISEXP,",Q", IQEXP,",P"
5590 PRINT@ 16;XLAB(I)
5600 PRINT@ 16;CHR$(3)
5610 *JUMP30 :NEXT I
5620 FOR I=IOPY4 TO NYT+1 STEP IOPY3
5630 A=LEN(STR$(YLAB(I)))
5640 IF A>AA THEN AA=A
5650 NEXT I
5660 FOR I=IOPY4 TO NYT+1 STEP IOPY3
5670 IF IOP12=1 THEN *JUMP31
5680 PYL=IQL*AA
5690 PRINT@ 16;"M",IPXORG1-PYL-20,IPYLAB(I)+75-ISL*.5,
" ,S" ,ISL, " ,Q" k IQL, " ,P"
5700 PRINT@ 16;YLAB(I)
5710 PRINT@ 16;CHR$(3)
5720 GOTO *JUMP32



5730
5740
5750
5760
5770
5780
5790
5800
5810
5820
5830
5840
5850
5860
5870
5880
5890
5900
5910
5920
5930
5940
5950
5960
5970
5980
5990
6000
6010
6020
6030
6040
6050
6060
6070
6080
6090
6100
6110
6120
6130
6140
6150
6160
6170
6180
6190
6200
6210
6220
6230

6240
6250
6260
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*JUMP31 :A=IPXORG1-IQEXP*AA-10

PRINT@ 16;"M",A-IA10,IPYLAB(I)-IS10,",S",IS10,",Q",1IQ10,",P10"
PRINT@ 16;CHR$(3)

PRINT@ 16;"M",A,IPYLAB(I)+IS10,",S",ISEXP,",Q",IQEXP," ,P"
PRINT@ 16;YLAB(I)

PRINT@ 16;CHR$(3)

*JUMP32 :NEXT I

A=IPYORG1-IST-70+90

IF IOP11=1 THEN A=A-ISEXP-IS10 ELSE A=A-ISL

PRINT® 16;"M",IPXTIT,A,",s",IST,",Q",IQT,",P"

PRINT@ 16;XTIT$

PRINT@ 16;CHR$(3)

A=IPXORG1-IST-85

IF TI0P12=1 THEN A=A-AAXIQEXP-IA10 ELSE A=A-AA*IQL

PRINT@ 16;"M",A,IPYTIT,",S",IST,",Q",IQT,",R900,P"
PRINT@ 16;YTIT$

PRINT@ 16;CHR$(3),"A"

PRINT@ 16;"M", IPXDATE, IPYDATE,",s",1IsT,",Q",IQT,",P"
PRINT@ 16;"Date "+DATTE$

PRINT@ 16;CHR$(3),"A"

PRINT@ 16;"M", IPXSAM, IPYSAM,",s",IST,",Q",IQT,",P"

PRINT@ 16;"Sample "+SAMPLE$

PRINT@ 16;CHR$(3),"A"

PRINT@ 16;"M",IPXFAC,IPYFAC,",S",IST,",Q",IQT,",P"

PRINT@ 16;"File "+FILE$

PRINT@ 16;CHR$(3),"A"

PRINT@ 16;"M", IPXEG,IPYEG,",sS",IST,",Q",IqQT,",P"

PRINT@ 16;"Comment "+COMMEN$

PRINT@ 16;CHR$(3),"A"

*JUMP61 :PRINT@ 16;"¥",IPXORG1,IPYORG1,",Z",IPXORG2,IPYORG2
IF I0P5=1 THEN *JUMP33

FOR I=1 TO ITOT

PRINT® 16;"M",IX(I),Iv(I),",S20,N",IDOT,",A"

NEXT I

GOTO *JUMP34

*JUMP33

PRINT@ 16;"M",IX(1),I¥(1),",L",LINNE

FOR I=2 TO ITOT

PRINT@ 16;"D",IX(I),IY(I)

NEXT I

PRINT@ 16;CHR$(3),"A"

*JUMP34 :PRINT@ 16;"¥-260,-70,Z2700,1750"

RETURN

-

’ DATA STORAGE
*STOREDATA :CLS 1

COLOR 6:LOCATE 10,0
PRINT "**¥* STORE THE DATA **x"

QOLOR 6:10CATE 40,2 :PRINT "I-———r~ 8"

LOCATE 40,3 :PRINT DATES$

*JUMP106

:LOCATE 10,3 :PRINT "DATE (8 CHARACTERS)"

:COLOR 7:LOCATE 40,3 :LINE INPUT DATTE$

IF DATTES$="" THEN DATTE$=DATE$ :LOCATE 40,3 :PRINT DATTE$
IF LEN(DATTE$)>8 THEN *JUMP106
COLOR 6:LOCATE 40,5 :PRINT "1 20"




6270
6280

6290
6300
6310
6320
6330

6340
6350
6360

6370
6380

6390
6400
6410
6420
6430
6440
6450
6460
6470
6480
6490
6500
6510
6520
6530
6540
6550
6560
6570
6580
6590
6600
6610
6620
6630
6640
6650
6660
6670
6680
6690
6700
6710
6720
6730
6740
6750
6760
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LOCATE 40,6 :SAMPLE2$=SAMPLE$ :PRINT SAMPLE2$
*JUMP107

:LOCATE 10,6 :PRINT "SAMPLE NAME(20CHARACTERS)"
:COLOR 7:LOCATE 40,6 :LINE INPUT SAMPLE$

IF SAMPLE$="" THEN SAMPLE$=SAMPLE2$ :LOCATE 40,6 :PRINT SAMPLE$
IF LEN(SAMPLE$)>20 THEN *JUMP107

COLOR 6:LOCATE 40,8 :PRINT "l-—e——= 10"

LOCATE 40,9 :FILE2$=LEFT$(SAMPLE$,10) :PRINT FILE2$

*JUMP104

:LOCATE 10,9 :PRINT "FILE NAME (10 CHARACTERS)"
:COLOR 7:LOCATE 40,9 :LINE INPUT FILE$

IF FILE$="" THEN FILE$=FILE2$ :LOCATE 40,9 :PRINT FILE$
IF LEN(FILE$)>10 THEN *JUMP104
*JUMP105

:COLOR 6:LOCATE 40,11:PRINT "1 20"

LOCATE 40,12:COMMEN2$=COMMEN$ :PRINT COMMEN2$
LOCATE 10,12:PRINT "COMMENT (20 CHARACTERS)"

:COLOR 7:LOCATE 40,12:LINE INPUT COMMEN$

IF COMMEN$="" THEN COMMEN$=COMMEN2$ :LOCATE 40,12:PRINT COMMEN$
IF LEN(COMMEN$)>20 THEN *JUMP105
GOSUB *MYSAVE : RETURN

b

I READ OUT "TSINDEX"
*READFILE

OPEN DV$+"TSINDEX" AS #1

FIELD #1,2 AS A$

GET #1,1

FTOT1=CVI(A$)

IF FTOT1=0 THEN CLOSE #1 :RETURN

'DIM A1$(FTOT1+1)

I=0

*JUMP135 :I=I+1

LAST=FTOT1-12%(I-1)

IF LAST>12 THEN LAST1=12 ELSE LAST1=LAST
FIELD #1,240 AS A$

GET #1

FOR J=1 TO LAST1
Al$(12%(I-1)+J)=MID$(A$,20%J-19,20)

NEXT J

IF LAST1<>LAST THEN *JUMP135

CLOSE #1

RETURN

& WRITE DOWN "TSINDEX"
*WRITEFILE

OPEN DV$+"TSINDEX" AS #1
FIELD #1,2 AS A$

LSET A$=MKI$(FTOT1)

PUT #1,1

1=0

*JUMP136 :I=I+1
LAST=FTOT1-12%(I-1)

IF LAST>12 THEN LAST1=12 ELSE LAST1=LAST
FIELD #1,240 AS A$

B$=1' "

FOR J=1 TO LAST1
B$=B$+A1$(12%(I-1)+J)



6770
6780
6790
6800
6810
6820
6830
6840
6850
6860
6870
6880
6890
6900
6910

6920
6930
6940
6950
6960
6970
6980
6990
7000
7010
7020
7030
7040
7050
7060
7070

7080
7090
7100
7110
7120
7130
7140
7150

7160
7170
7180
7190

7200
7210
7220
7230
7240
7250
7260

NEXT J

LSET A$=B$

PUT #1

IF LAST1<>LAST THEN *JUMP136

CLOSE #1

RETURN

A STORE THE DATA

*STOREFILE

IF ITOT<=29 THEN NEED=1 ELSE NEED=((ITOT-29) ¥ 63)+2
' GOSUB *READFILE

I=0

*JUMP138 :I=I+1

IF I>FTOT1 THEN IAD1=FTOT1+1 :GOTO *JUMP139
A$=LEFT$(A1$(I),10)

IF FILE$>A$ THEN *JUMP138 ELSE

IF FILE$<A$ THEN IAD1=I ELSE IRE=1

:COLOR 2: LOCATE 21,20: PRINT FILE$;" IS ALREADY EXIST !"
:INPUT ZZZZ : RETURN

*JUMP139 :OPEN DV$+'"TSCONTEN" AS #1

FIELD #1,2 AS A$

GET #1,1

FTOT2=CVI(A$)

FIELD #1,250 AS A$

IF FTOT2=0 THEN IAD2=1 :IADD=1 :GOTO *JUMP140
1=0

*JUMP141 :I=I+1

LAST=FTOT2-5%(I-1)

IF LAST>5 THEN LAST1=5 ELSE LAST1=LAST

GET #1
FOR J=1 TO LAST1
K=5%(I-1)+J

A2$=MID$ (A$,50%J-49,50)
A3$=LEFT$(A2%,1)
IF ((A3$=" ") AND (IAD2<>0)) OR
((A3$<>" ") AND (IAD2=0)) THEN *JUMP142
IF (A3$=" ") AND (IAD2=0) THEN *JUMP143
IST=VAL(MID$(A2$,42,4))
IF NEED<=IST-IEN-1 THEN IADD=IEN+1 :GOTO *JUMP140
IST=0 :IEN=0 :IAD2=0 :GOTO *JUMP142
*JUMP143 :IEN=VAL(MID$(A4$,47,4)) :IAD2=K
*¥JUMP142 :A4$=A2$ :NEXT J
IF LAST1<>LAST THEN *JUMP141
IF IAD2<>0 THEN IADD=IEN+1 ELSE IADD=VAL(MID$(A2$,47,4))+1
: TAD2=FTOT2+1
*JUMP140 :IR1=IAD2 ¥ 5
IR2=IAD2 MOD 5
IF IR2<>0 THEN IR1=IR1+1 ELSE IR2=5
IF (IR2=1) AND (IAD2=FTOT2+1) THEN B$=SPACE$(50)
:GOTO *JUMP137 :
GET #1,IR1+1
B$=A$
*JUMP137 :MID$(B$,50%IR2-49,11)=FILE$
MID$ (B$,50%IR2-38,9)=DATTE$
MID$ (B$,50%IR2-29, 20 ) =COMMEN$
MID$(B$,50%IR2-9,5)=STR$ ( IADD)
MID$(B$,50%IR2-4,5)=STR$ ( IADD+NEED-1 )

101



7270
7280
7290
7300
7310
7320
7330
7340
7350
7360
7370
7380
7390
7400
7410
7420
7430
7440

7450
7460
7470
7480
7490
7500
7510
7520
7530
7540
7550
7560
7570
7580
7590
7600
7610
7620
7630
7640
7650
7660
7670
7680
7690
7700
7710
7720
7730
7740
7750
7760
7770
7780
7790
7800
7810
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LSET A$=B$

PUT #1,IR1+1

FIELD #1,2 AS A$

IF IAD2=FTOT2+1 THEN FTOT2=FTOT2+1

LSET A$=MKI$(FTOT2)

PUT #1,1

CLOSE #1

A$=SPACE$(20)

MID$(A$,1,10)=FILE$

MID$(A$,11,5)=STR$(IADD)

MID$ (A$,16,5)=STR$ ( IADD+NEED-1)

FOR I=FTOT1+1 TO IAD1 STEP -1

IF I=IAD1 THEN A1$(I)=A$ ELSE Al1$(I)=A1$(I-1)
NEXT I

FTOT1=FTOT1+1

GOSUB *WRITEFILE

OPEN DV$+"TSDATA" AS #1

FIELD #1,10AS F1$,8AS F2$,20AS F3$,20AS F4$,20AS F53$,

20AS F6$,20AS F7$,16AS F8$,116AS F9$

LSET F1$=FILE$

LSET F2$=DATTE$

LSET F3$=SAMPLE$

LSET F4$=COMMEN$

LSET F5$=DT$

LSET F6$=IT$

LSET F7$=BOS$

LSET F8$=MKS$ (VSTA )+MKS$(VSTO)+MKS$ (VSTE ) +MKS$ ( ITOT)
IF ITOT<29 THEN LAST=ITOT ELSE LAST=29
B$=nn

FOR I=1 TO LAST

B$=B$+MKSS$(P(I))

NEXT I

LSET F9$=B$

PUT #1,IADD

IF LAST=ITOT THEN *JUMP433

1=0

*JUMP144 :I=I+1
LAST=ITOT-29-63%(I-1)

IF LAST>63 THEN LAST1=63 ELSE LAST1=LAST
FIELD #1,252 AS A$

B$=""

FOR J=1 TO LAST1

B$=B$+MKS$ (P(29+63*%(I-1)+J))
NEXT J

LSET A$=B$

PUT #1

IF LAST1<>LAST THEN *JUMP144
*JUMP433 :CLOSE #1

RETURN

3 - FIND A DATA IN "TSINDEX"
*FINDFILE

IRE=0

GOSUB *READFILE

T=0

*JUMP145 :I=I+1

IF I>FTOT1 THEN IRE=1 :RETURN




7820
7830

7840
7850
7860
7870
7880
7890
7900
7910
7920
7930
7940
7950
7960
7970
7980
7990
8000
8010
8020
8030
8040
8050
8060
8070
8080
8090
8100
8110
8120
8130
8140
8150
8160
8170
8180
8190
8200
8210
8220
8230
8240
8250
8260
8270
8280
8290
8300
8310
8320
8330
8340
8350
8360
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A$=LEFT$(A1$(I),10)

IF FILE$>A$ THEN *JUMP145 ELSE

IF FILE$=A$ THEN IAD1=I ELSE IRE=1 :RETURN
IST=VAL(MID$ (A1$(IAD1),12,4))
IEN=VAL(MID$(A1$(IAD1),17,4))
RETURN

! DELETE A DATA
*DELFILE

GOSUB *FINDFILE

IF IRE=1 THEN RETURN

FOR I=IAD1 TO FTOT1-1
Al$(I)=A1$(1+1)

NEXT I

FTOT1=FTOT1-1

GOSUB *WRITEFILE

OPEN DV$+"TSCONTEN" AS #1
FIELD #1,2 AS A$

GET #1,1

FTOT2=CVI(A$)

I=0

*JUMP146 :I=I+1
LAST=FTOT2-5%(I-1)

IF LAST>5 THEN LAST1=5 ELSE LAST1=LAST
FIELD #1,250 AS A$

GET #1

FOR J=1 TO LAST1

K=5%(I-1)+J

A2$=MID$(A$,50%J-49,10)

IF A2$=FILE$ THEN *JUMP147

NEXT J

IF LAST1<>LAST THEN *JUMP146

IRE=2 :CLOSE #1

RETURN

*JUMP147 :B$=A$

MID$ (B$,50%J-49,50)=SPACE$(50)

LSET A$=B$

PUT #1,I+1

IF (LAST1<>LAST) OR (J<>LAST1) THEN *JUMP148
FIELD #1,2 AS A$

FTOT2=FTOT2-1

LSET A$=MKI$(FTOT2)

*JUMP148 :CLOSE #1

OPEN DV$+"TSDATA" AS #1

FIELD #1,255 AS F1$,1 AS F2$
LSET F1$=SPACE$(255)

LSET F2$=SPACE$(1)

FOR I=IST TO IEN

PUT #1,I

NEXT I

CLOSE #1

RETURN

’ LOADING THE DATA
*LOADFILE

A=LEN(FILES)
FILE$=FILE$+SPACE$(10-A)

GOSUB *FINDFILE




8370
8380

8390
8400

8410
8420
8430
8440
8450
8460
8470
8480
8490
8500
8510
8520
8530
8540
8550
8560
8570
8580
8590
8600
8610

8620~

8630
8640
8650
8660
8670
8680
8690
8700
8710
8720
8730
8740
8750
8760
8770
8780
8790
8800
8810
8820
8830
8840
8850
8860
8870
8880
8890
8900

*INPUT IST

IF IRE=1 THEN COLOR 2:LOCATE 21,24

:PRINT LEFT$(FILE$,A);" IS NOT EXIST !"

OPEN DV$+"TSDATA" AS #1 ’

FIELD #1,10AS F1$,8AS F2$,20AS F3$,20AS F4$,20AS F5$,
20AS F6$,20AS F7$,16AS F8$,116AS F9$

GET #1,IST

FILE$=F1$

FILE$=LEFT$(FILE$,10)

DATTE$=F2$

DATTE$=LEFT$ (DATTE$,8)

SAMPLE$=F3$

SAMPLE$=LEFT$ ( SAMPLES$, 20)

COMMEN$=F4$

COMMEN$=LEFT$ (COMMEN$ , 20)

DT$=F5$

A=INSTR(DTS$," ")-1

IF A>0 THEN DT$=LEFT$(DT$,A)

IT$=F6$

A=INSTR(ITS$," ")-1

IF A>0 THEN IT$=LEFT$(IT$,A)

BOS$=F7$

A=INSTR(BOS$," ")-1

IF A>0 THEN BOS$=LEFT$(BOS$,A)

VSTA=CVS(MID$(F8%,1,4))

VSTO=CVS(MID$(F8%$,5,4))

VSTE=CVS(MID$ (F8$,9,4))

ITOT=CVS(MID$(F8%,13,4))

BOS=VAL(BOS$ )

)

IF BOS=0 THEN 8760
b

FOR I=1 TO CINT(ITOT/2)
T(I1)=VSTA+(I-1)*VSTE
NEXT I

K=0
FOR I=CINT(ITOT/2)+1 TO ITOT
K=K+1 :T(I)=VSTO-(K-1)*VSTE
NEXT I
GOTO 8920
)

FOR I=1 TO CINT(ITOT/4)
T(I)=VSTA+(I-1)*VSTE
NEXT I

K=0
FOR I=CINT(ITOT/4)+1 TO CINT(ITOT/2)
K=K+1 :T(I)=VSTO-(K-1)*VSTE
NEXT I

K=0
FOR I=CINT(ITOT/2)+1 TO CINT(ITOT/2+ITOT/4)
K=K+1 :T(I)=-VSTA-(K-1)*VSTE
NEXT I

K=0 -
FOR I=CINT(ITOT/2+ITOT/4)+1 TO ITOT
K=K+1 :T(I)=-VSTO+(K-1)*VSTE
NEXT I

104



8910
8920
8930
8940
8950
8960
8970
8980
8990
9000
9010
9020
9030
9040
9050
9060
9070
9080
9090
9100
9110
9120
9130
9140
9150
9160
9170
9180
9190
9200
9210

9220
9230
9240
9250
9260
9270
9280
9290
9300
9310

9320

9330
9340
9350
9360
9370
9380
9390
9400
9410
9420
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IF ITOT<29 THEN LAST=ITOT ELSE LAST=29
FOR I=1 TO LAST

J=4*I-3

P(I)=CVS(MID$(F9%$,J,4))

NEXT I

IF LAST=ITOT THEN *JUMP149

I=0

*JUMP150 :I=I+1

LAST=ITOT-29-63%(I-1)

IF LAST>63 THEN LAST1=63 ELSE LAST1=LAST
FIELD #1,252 AS Al$

GET #1

FOR J=1 TO LAST1

K=4%J-3
P(29+63%(I-1)+J)=CVS(MID$(A1$,K,4))
NEXT J

IF LAST1<>LAST THEN *JUMP150

*JUMP149 :CLOSE #1

Y e 2.3 FILE MANAGEMENT BRANCH
¥*FILEMANA :CONSOLE 0,24,0,1 :CLS 3 :COLOR 6

LOCATE 26,0 :PRINT "FILE MANAGEMENT TASKS" :COLOR 5

LOCATE 21,2 :PRINT "0 LIST INDEX OF DATA FILES ON CRT"
LOCATE 21,3 :PRINT "1 PRINT INDEX OF DATA FILES"

LOCATE 21,4 :PRINT "2 LIST CONTENTS OF DATA FILES ON CRT"
LOCATE 21,5 :PRINT "3 PRINT CONTENTS OF DATA FILES"
LOCATE 21,6 :PRINT "4 DELETE A DATA FILE"

LOCATE 21,7 :PRINT "5 GO TO TASK SELEKTION"

LOCATE 26,9 :PRINT "PRESS YOUR CHOICE NUMBER"

COLOR 7:LOCATE 29,10:PRINT "AND PRESS ";:COLOR 2:PRINT "G ";
:COLOR 7:PRINT "TO ESCAPE IN ";:COLOR 2:PRINT "MODE 1-4"
COLOR@ (21,2)-(21,7),2 :COLOR® (26,9)-(60,9),2 :COLOR 5
*LOOP200 :C$=INKEY$

IF C$="" THEN *LOOP200

IF C$="0" THEN GOSUB *LIST1 :GOTO *FILEMANA

IF C$="1" THEN GOSUB *LIST1L :GOTO *FILEMANA

IF C$="2" THEN GOSUB *LIST2 :GOTO *FILEMANA

IF C$="3" THEN GOSUB *LIST2L :GOTO *FILEMANA

IF C$="5" OR C$=CHR$(13) THEN RETURN

IF C$<>"4" THEN *FILEMANA

CLS 3 :LOCATE 21,9

:PRINT "INSERT DATA DISKETTE INTO RIGHT SLOT"

COLOR 7:LOCATE 21,11

:PRINT "FILE NAME";:COLOR 5:PRINT " TO BE DELETED ";

:COLOR 7:LINE INPUT FILE$

A=LEN(FILE$)

FILE$=FILE$+SPACE$(10-A)

GOSUB *DELFILE

COLOR 2 :LOCATE 21,24 :PRINT LEFT$(FILE$,A);

IF IRE<>1 THEN PRINT " WAS NOW DELETED" :GOTO *FILEMANA
PRINT " IS NOT EXIST !'" :GOTO *FILEMANA
. LIST INDEX OF DATA ON CRT
*LIST1

I0P6=1

GOSUB *LISTCOM1




9430
9440
9450
9460
9470
9480
9490
9500
9510
9520

9530
9540
9550
9560

9570

9580
9590
9600

9610
9620
9630
9640
9650
9660
9670
9680
9690
9700
9710
9720
9730
9740
9750
9760
9770
9780
9790

9800
9810
9820
9830
9840
9850
9860

9870
9880
9890
9900
9910
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RETURN

) e PRINT INDEX OF DATA BY PRINTER
*LIST1L

I0P6=2

GOSUB *LISTCOM1

RETURN

Ve COMMON ROUTINE OF LIST OR PRINT INDEX OF DATA ———-———
*LISTCOM1

GOSUB *READFILE

IF IOP6=1 THEN PRINT "FTOT1 = ";FTOT1 ELSE

IF IOP6=2 THEN LPRINT "FTOT1 = ";FIOT1

IR1=FTOT1 ¥ 3

IR2=FTOT1 MOD 3

FOR I=1 TO IR1

IF IOP6=1 THEN PRINT A1$(3*I-2);SPACE$(5);A1$(3*I-1);
SPACE$(5);A1$(3%I)

IF IOP6=2 THEN LPRINT A1$(3%I-2);SPACE$(5);A1$(3*I-1);
SPACE$(5) ;A1$(3%I)

NEXT I

FOR I=1 TO IR2

IF IOP6=1 THEN PRINT A1$(3*IR1+I);SPACE$(5) ELSE

IF IOP6=2 THEN LPRINT A1$(3*IR1+I);SPACE$(5)

NEXT I

XHALT10 :D$=INKEY$ :IF D$<>"G" THEN *HALT10 ELSE RETURN

Ve LIST CONTENTS OF DATA FILE ON CRT -————————

*LIST2

IOP7=1

GOSUB *LISTCOM2

RETURN

*LIST2L

I0OP7=2

GOSUB *LISTCOMZ

RETURN

’ —— COMMON ROUTINE OF LIST OR PRINT CONTENTS OF DATA FILE --
*LISTCOMZ

OPEN DV$+"TSCONTEN" AS #1

FIELD #1,2 AS A$

GET #1,1

FTOT2=CVI(A$) :
IF IOP7=1 THEN PRINT "FTOT2 = ";FTOT2 ELSE
IF IOP7=2 THEN LPRINT "FTOT2 = " ;FTOT2

IR1=FTOT2 ¥ 5

IR2=FTOT2 MOD 5

FIELD #1,250 AS A$

FOR I=1 TO IRl

GET #1

FOR J=1 TO 5

IF IOP7=1 THEN PRINT MID$(A$,50%J-49,50) ELSE
IF IOP7=2 THEN LPRINT MID$(A$,50%J-49,50)
NEXT J

NEXT I

GET #1

FOR I=1 TO IR2

IF IOP7=1 THEN PRINT MID$(A$,50%I-49,50) ELSE
IF IOP7=2 THEN LPRINT MID$(A$,50%I-49,50)



9920
9930
9940
9950
9960
9970
9980

9990

10000
10010
10020
10030

10040

10050

10060
10070

10080
10090
10100
10110
10120
10130
10140
10150
10160
10170
10180
10190
10200
10210
10220
10230
10240
10250
10260
10270
10280
10290
10300
10310
10320
10330
10340
10350
10360
10370
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NEXT I

CLOSE #1

*HALT20:D$=INKEY$ :IF D$<>"G" THEN *HALT20 ELSE RETURN
. LOADED DATA DISPLY
¥LDDISP: CONSOLE 0,25,0,1 :CLS 1: COLOR 6

LOCATE 20,0 :PRINT "#*¥¥*¥* LOADED DATA Fkkkkk!

COLOR 5:LOCATE 20,2 :PRINT "FILE NAME":COLOR 7:LOCATE 41,2
PRINT FILES$

COLOR 5:LOCATE 20,3 :PRINT "COMMMENT" :COLOR 7:LOCATE 41,3

:PRINT COMMEN$

COLOR 5:LOCATE 20,5 :PRINT "DATE":COLOR 7:LOCATE 41,5

:PRINT DATTES$

COLOR 5:LOCATE 20,6 :PRINT "SAMPLE NAME":COLOR 7:LOCATE 41,6

:PRINT SAMPLES$

COLOR 5:LOCATE 20,8 :PRINT "DELAY TIME":COLOR 7:LOCATE 41,8
:PRINT DT$

COLOR 5:LOCATE 20,9 :PRINT "INTEGRATION" :COLOR 7:LOCATE 41,9
:PRINT IT$

COLOR 5:LOCATE 20,10:PRINT "POLARITY"

-COLOR 7:LOCATE 41,10:IF BOS=0 THEN PRINT "BOTH SIDE" ELSE

IF BOS=1 THEN PRINT "SINGLE SIDE"

*JUMP1000:COLOR 7

:LOCATE 20,12 :PRINT "1 HARDCOPY & CONTINUE"
LOCATE 20,13 :PRINT "2 NOT HARDCOPY & CONTINUE"

LOCATE 21,15 :COLOR 2 :PRINT "PRESS YOUR CHOICE NUMBER"
:COLOR 5

COLOR@ (20,12)-(20,13),2

*1 00P1000 :C$=INKEY$
IF C$="" THEN *LOOP1000
IF C$="2" OR C$=CHR$(13)THEN *ESCAPE1000
IF C$<>"1" THEN *JUMP1000
CONSOLE 17,20,0,1 :CLS 1 :CONSOLE 0,25,0,1 :COPY
*ESCAPE1000
RETURN

! —_— TSCONTEN INPUT
*CONTEN

OPEN DV$+"TSCONTEN" AS #1

FIELD #1,2 AS A$

GET #1,1

FTOT2=CVI(A$)

IR1=FTOT2 ¥ 5:IR2=FTOT2 MOD 5
FIELD #1,250 AS A$

FOR I=1 TO IRl

GET #1

FOR J=1 TO 5
II=5%I+J-6:BB$(II)=MID$(A$,50%J-49,50)
NEXT J :NEXT 1

IF IR2=<0 THEN GOTO 10340

GET #1

FOR I=1 TO IR2
II=5%IR1+I-1:BB$(II)=MID$(A$,50%I-49,50)
NEXT I

CLOSE #1

RETURN

' FILE INPUT
*FILEREF




10380
10390
10400
10410
10420
10430
10440
10450

10460
10470
10480
10490
10500
10510
10520
10530
10540
10550
10560
10570

10580
10590
10600
10610
10620

10630
10640
10650
10660
10670
10680
10690
10700
10710
10720
10730
10740
10750
10760
10770
10780
10790
10800
10810
10820
10830
10840
10850
10860

CLS 1

GOSUB *CONTEN

WANT=FTOT2-1 : IMIN=FTOT2-16

COLOR 4:LOCATE 20,0: PRINT " TS DATA FILES "
COLOR 7:LOCATE 50,0: PRINT "FTOT=";FTOT2
COLOR 4:LOCATE 10,1 : PRINT STRING$(58,"-")
COLOR 4:LOCATE 10,18: PRINT STRING$(58,"-")

*LP1 :COLOR 3 : LOCATE 15,19 : PRINT"FILES LIST =";

:FILES DV$

LOCATE 0,21:FOR I=1 TO 3:PRINT SPC(79):NEXT I
COLOR 2:LOCATE 20,22:PRINT " PLEASE SELECT"
*LP2 :COLOR 5

FOR I=IMIN TO IMIN+15

IF I=>0 THEN LOCATE 15,2+I-IMIN: PRINT BB$(I)
NEXT I

IF WANT<O THEN WANT=FTOT2-1

COLOR 6:LOCATE 15,2+WANT-IMIN:PRINT BB$(WANT)
WHILE W$<>"" :W$=INKEY$ :WEND
*LP3:W$=INKEY$

IF w$="" THEN *LP3

IF W$=CHR$(30) THEN

IF WANT=IMIN THEN WANT=WANT+15:GOTO *LP2
IF W$=CHR$(30) THEN

IF WANT>IMIN THEN WANT=WANT-1:GOTO *LP2
IF W$=CHR$(31) THEN

IF WANT=IMIN+15 THEN WANT=IMIN:GOTO *LP2

IF W$=CHR$(31) THEN

IF WANT<IMIN+15 THEN WANT=WANT+1:GOTO *LP2
IF W$=CHR$(28) THEN

IF IMIN>O0 THEN IMIN=IMIN-1:WANT=WANT-1
IF W$=CHR$(29) THEN

IF IMIN+15<FTOT2-1  THEN IMIN=IMIN+1:WANT=WANT+1

IF W$=CHR$(13) THEN *LP4
GOTO *LP2
*LP4
FILE$=LEFT$ (BB$ (WANT),10)
RETURN

’
]
’
b
b
)
’

’——— AUTO MEASUREMENT -
*MEASURE

GOSUB *PARASET

GOSUB *DEVICESET

’

I=0 :K=0

*REPEAT

I=1+1

GOSUB *RDATA

GOSUB *WDATA

IF STS$ <> "L" THEN *REPEAT
IF BOS=1 THEN 10950

108



10870
10880
10890
10900
10910
10920
10930
10940
10950
10960
10970
10980
10990
11000
11010
11020
11030
11040
11050
11060
11070
11080
11090
11100
11110
11120
11130
11140
11150
11160
11170
11180
11190
11200
11210
11220
11230
11240
11250
11260
11270
11280
11290
11300
11310
11320
11330
11340
11350
11360
11370
11380
11390
11400
11410
11420
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GOSUB *DSET2

*REPEAT2

I=I+1

GOSUB *RDATA

GOSUB *WDATA

IF STS$ <> "L" THEN *REPEAT2
)

GOSUB *DRESET
b

ITOT=I

VSTA=PS :VSTO=PT :VSTE=PE

FOR I=1 TO 10 :BEEP :NEXT I

IF (BOS=0) AND (ITOT=4%(CINT((VSTO-VSTA)/VSTE)+1)) THEN 11020
¥F (BOS=1) AND (ITOT=2%(CINT((VSTO-VSTA)/VSTE)+1)) THEN 11020

GOTO *DISPLY
?

RETURN

b

'——— DEVICE SET

*DEVICESET

ISET IFC

ISET REN

CMD DELIM=0

'——— 4140B SET (I)
=2 ’function (I-v)
=1 ’I-range (AUTO)

H=12 ’limit auto range (1E-12A)

I=3 ’integration time (LONG)

IT$="LONG"
J=1. . 'filter (ON)
T=1 ’I-trigger { INTERNAL)
A=3 ’Va-mode (double staircase)
B=2 ’Vb-mode (OFF)
L=3 ’Va I-limit (1E-2A)
wW=1 ’sweep control (auto start)
b

F$="F"+STR$ (F)
RA$="RA"+STR$(RA)
H$="H"+STR$ (H)
I1$="1I"+STR$(I)
J$="J"+STR$(J)
T$="T"+STR$(T)
A$="A"+STR$(A)
B$="B"+STR$(B)
L$="L"+STR$(L)
W$="W"+STR$ (W)

DT$=STR$(PD)+"s"
BOS$=STR$ (BOS)

PC1$=F$+RA$+H$+I$+I$+TS+AS+BS+LS
PRINT@ 16;PC1l$

PRINT@ 16;PC2$

PRINT@ 16;W$



110

11430 RETURN

11440 °

11450 ’--- DEVICE SET 2
11460 *DSET2

11470 FOR AAA=1 TO 5 :TTIME$=TIME$

11480 WHILE TTIME$=TIME$ :WEND :NEXT AAA
11490 PRINT@ 16;PC3$
11500 PRINT@ 16;W$
11510 RETURN

11520 °

11530 ’--- DEVICE RESET
11540 *DRESET

11550 PRINT@ 16;"W7"
11560 IRESET REN

11570 RETURN

11580 °’

11590 ’--- DATA INPUT FROM 4140B
11600 *RDATA

11610 INPUT@ 16; A$,B$

11620 P(I)=VAL(MID$(A$,3,10))/AREA
11630 T(I)=VAL(MID$(B$,2,7))

11640 STS$=MID$(A$,1,1)
11650 RETURN

11660 °’

11670 ’--- PARAMETER SET
11680 *PARASET

11690 CONSOLE 0,25,0,1 :CLS 3

11700 COLOR 6 :LOCATE 19,0: PRINT "s¥¥#%¥* PARAMETER SET ¥¥¥kkxx':
11710 COLOR 5 :LOCATE 23,1: PRINT "FROM (V) ";PS

11720 COLOR 5 :LOCATE 23,2: PRINT "TO V) P71

11730 COLOR 5 :LOCATE 23,7 PRINT/USTEP (V)  ";PE

11740 COLOR 5 :LOCATE 13,4: PRINT "BOTH(Q) or SINGLE(1) ";BOS
11750 COLOR 5 :LOCATE 19,5: PRINT "DELAY TIME (s) ";PD

11760 COLOR 5: LOCATE 17,6: PRINT "CELL AREA (cm”2) ";AREA

11770 COLOR® (13,4)-(33,4),4

11780 COLOR@ (19,5)-(33,5),3

11790 COLOR@ (17,6)-(33,6),2

11800 COLOR 7 :

11810 COLOR@ (23,1)-(33,1),7 :LOCATE 41,1 :INPUT ;C$
11820 COLOR@ (23,1)-(33,1),5

11830 IF C$<>"" THEN PS=VAL(C$) ELSE LOCATE 42,1 :PRINT PS
11840 COLOR@ (23,2)-(33,2),7 :LOCATE 41,2 :INPUT ;C$
11850 COLOR@ (23,2)-(33,2),5

11860 IF C$<>"" THEN PT=VAL(C$) ELSE LOCATE 42,2 :PRINT PT
11870 COLOR@ (23,3)-(33,3),7 :LOCATE 41,3 :INPUT ;C$
11880 COLOR@ (23,3)-(33,3),5

11890 IF C$<>"" THEN PE=VAL(C$) ELSE LOCATE 42,3 :PRINT PE
11900 *JMPPS1

11910 COLOR@ (13,4)-(33,4),7 :LOCATE 41,4 :INPUT ;C$
11920 COLOR@ (13,4)-(33,4),4

11930 IF C$<>"" THEN BOS=VAL(C$) ELSE LOCATE 42,4 :PRINT BOS
11940 IF (BOS=0) OR- (BOS=1) THEN *JMPPS2 ELSE *JMPPS1
11950 *JMPPS2

11960 COLOR@ (19,5)-(33,5),7 :LOCATE 41,5 :INPUT ;C$
11970 COLOR® (19,5)-(33,5),3

11980 IF C$<>"" THEN PD=VAL(C$) ELSE LOCATE 42,5 :PRINT PD



11990
12000
12010
12020
12030
12040
12050
12060
12070
12080
12090
12100
12110
12120
12130
12140
12150
12160
12170
12180
12190
12200
12210
12220
12230
12240
12250
12260

12270
12280
12290
12300
12310
12320
12330
12340
12350
12360
12370
12380
12390
12400
12410
12420
12430
12440
12450

12460
12470
12480
12490
12500
12510
12520
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COLOR® (17,6)-(33,6),7 :LOCATE 41,6 :INPUT ;C$

COLOR@ (17,6)-(33,6),2

IF C$<>"" THEN AREA=VAL(C$) ELSE LOCATE 42,6 :PRINT AREA
=PD

IF PT-PS < 0 THEN PE=-ABS(PE)

b
b

PS$="PS"+STR$ (PS)
PS2$="PS" +STR$ (-PS)
PT$="PT"+STR$ (PT)
PT2$="PT"+STR$ (-PT)
PE$="PE"+STR$ (PE)
PE2$="PE"+STR$ (-PE)
PH$="PH"+STR$ (PH)
PD$="PD"+STR$ (PD)
PCZ$=PS$+" 3 "+pr$+" . "+PE$+" 4 "+H_I$+" 5 "+PD$
PC3$=PS2§+" , "+PT2$+", "+PE2$+", "+PH$+" , " +PD$
g
COLOR 5
LOCATE 20,8:PRINT "V (V)"
LOCATE 38,8:PRINT "J (A/cm"2)"
LOCATE 56,1 :PRINT "STATUS"
RETURN
’
: - DATA DISPLAY
*WDATA
COLOR 7
IF I MOD 15 = 1 AND I<>1 THEN K=K+15 :CONSOLE 9,15,0,1

:CLS 1 :CONSOLE 0,25,0,1

LOCATE 19,8+(I-K):PRINT USING "+##.## ";T(I)
LOCATE 37,8+(I-K):PRINT USING "+#.##"""""; P(I)
LOCATE 65,1 :PRINT STS$

RETURN

“ % W w e e

- CHANGE DIHRECILY [CHDIE) ===
*DIRCH

ON ERROR GOTO *ERRORTRP

CLS 1 :COLOR 2 :LOCATE 7,0 :PRINT "*** CHANGE DIR k%' 5
COLOR 3 :LOCATE 28,0 :PRINT "6Z]D C"(Z8DX= "o <FILES DVS$
COLOR 6 :LOCATE 0,1

FOR I=1 TO 5 :PRINT SPC(79) :NEXT I :LOCATE 0,1

FILES DV$+"¥"

PRINT :COLCR 4

PRINT " Input a DIR name to change ";

:COLOR 6 :INPUT DIRE1l$

IF DIRE1$="" THEN *ESCCH

CHDIR DV$+"¥"+DIRE1$

*ESCCH

ON ERROR GOTO O
RETURN *DISPLY

;|

)



12530
12540
12550
12560
12570
12580
12590
12600
12610

12620
12630
12640
12650
12660
12670
12680
12690
12700
12710
12720
12730
12740
12750
12760
12770
12780
12790
12800
12810
12820
12830
12840
12850
12860
12870
12880
12890
12900
12910
12920
12330
12940
12950
12960
12970
12980
12990
13000
13010
13020
13030
13040
13050
13060
13070
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'———— MAKE DIRECTORY (MKDIR) —-—--

*DIRMK

CLS 1 :COLOR 4 :LOCATE 7,0 :PRINT "#¥* MAKE DIR %"
COLOR 3 :LOCATE 28,0 :PRINT "6Z]D C"(Z8DX= "; :FILES DV$

COLOR 6 :LOCATE 0,1

FOR I=1 TO 5 :PRINT SPC(79) :NEXT I :LOCATE 0,1
FILES DV$+"¥" )

PRINT :COLOR 2

PRINT " Input a new DIR name to make ";

:COLOR 6 :INPUT DIRE1l$
IF DIRE1$="" THEN GOTO *ESCMK
MKDIR DV$+"¥"+DIRE1$ :CHDIR DV$+"¥"+DIRE1$
GOSUB *INITIAL
*ESCMK
RETURN *DISPLY
’

)~——— INITTALIZATION OF DATA DISKET
*INITIAL

FOR I=1 TO 3

IF I=1 THEN A$="TSINDEX"
IF I=2 THEN A$="TSCONTEN"
IF I=3 THEN A$="TSDATA"
OPEN DV$+A$ AS #1

FIELD #1,2 AS A$

LSET A$=MKI$(0)

PUT #1,1

CLOSE #1

NEXT I

RETURN

———————————— Error trap rourtine
*ERRORTRP

IF ERR=76 THEN RESUME *DIRCH

ON ERROR GOTO O

)

et PRINT OUT DATA OF J-V ———————-
*PRDATA

LPRINT :LPRINT

LPRINT " vV (V) JéA/em™2) "

FOR I=1-TO ITOT

LPRINT USING " +H#H# +HEEETTTTT(I),P(T)
NEXT I

ILPRINT :LPRINT
RETURN

]

’)—————— SEARCH OF DATA ————-

*SDATA

PRINT "Input [E] if you want to finish'":PRINT

INPUT "Please input a DATA of Voltage';VOLDATA$

IF VOLDATA$="E" THEN RETURN

FOR. T=1 TO- TTOT

IF VAL(VOLDATA$)=T(I) THEN PRINT USING "+#.##""""";P(I)
NEXT I

GOTO 13010
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13080 7 serrn PLOTTING INPTTED DATA-——--
13080 .7 ' (J =~ T ~1/4 CHARACTERISTICS)
13100 ’

13110 *PLOTDATA
13120 INPUT "Input number of DATA(ITOT)";ITOT
13130 FOR I=1 TO ITOT
13140 READ T(I),P(I)
13150 T(I)=(T(1)+273)"(-1/4)
13160 NEXT I
b

18170

13180 °’

13190 GOTO *DISPLY

13200 °

13210 ’--—-Tunneling Current Plotting(J/V 2--V*(-1))

13220 *TUNNEL : JSAT=P(16)

13230 FOR I=1 TO ITOT

13240 IF T(I)=0 THEN P(I)=0 :GOTO 13280
13250 P(I)=(P(I)—JSAT)/T(I)A2

13260 IF P(I)<0 THEN P1)=0

18270 TEIY=1/T(I)

13280 NEXT I

13290 RETURN

13300 ’

13310 '’ —— No mean —————————==
13320 *K1 :RETURN

13330 *K2 :RETURN

13340 *K3 :RETURN

13350 *K4 :RETURN

13360 *K5 :RETURN

13370 *K6 :RETURN

13380 *K7 :RETURN

13390 *K9 :RETURN

13400 °’

13410’

13420 DATA 100,2.15E-4 ’No.1
13430 DATA 75,1.93E-4 ’ &
13440 DATA 50,1.7E-4 '
13450 DATA 22,1.41E-4 4
13460 DATA 0,1.18E-4 28
13470 DATA -25,1E-4 '8
13480 DATA -50,8.24E-5 re
13490 ’DATA 8

13500 ’DATA

13510 ’DATA

13520 ’DATA

13530 'DATA

13540 ’DATA

15000 '——mmmmmmmmmmm—m SRS SRR IS e o S R PRIERE LR
15010 °

15020 *MYSAVE ' STORE DATA ’
15030 OPEN DV$ + FILES AS #1

15040 WRITE #1, DATTES$;SAMPLE$;FILES$
15050 WRITE #1, COMMEN$

15060 WRITE #1, ITOT

15070 FOR I = 1 TO ITOT

15080 WRITE #1, T(1);P(1)




15090
15100
15110
15120
15510
15520
15530
15540
15550
15560
15570
15580
15590
16010
16020
16030
16040
16050
16060
16070
17010
17020
17030
17040
17042
17044
17050
17060
17070
17080
17090
17100
17110
17120
17130
17140
17150
17160

NEXT I
CLOSE #1
RETURN

b
b

*INFOTRAN

PRINT #2, DATTE$

PRINT #2, FILE$ &
PRINT #2, SAMPLE$

PRINT #2, COMMEN$

PRINT #2, "No. of item : ";ITOT
PRINT #2, "Voltage Current"
RETURN

b}

*DATATRAN

FOR I = 1 TO ITOT
PRINT #2, T(I),P(I)
NEXT I

RETURN

3
’

*MYLOAD

OPEN DV$ + FILE$ FOR INPUT AS #1
INPUT #1, DATTE$

INPUT #1, SAMPLE$

INPUT #1, FILE$

INPUT #1, COMMEN$

INPUT #1, ITOT

FOR I = 1 TO ITOT

INPUT #1, T(I),P(I)

NEXT I

CLOSE #1

FOR I = 1 TO ITOT

T(I) = ABS(T(I)) = P(I) = ABS(P(I))
NEXT I

GOSUB *MINMAX : GOSUB *XYDTMN : GOSUB *COMGRA :
GOSUB *HC : GOTO *DISPLY
RETURN

GOSUB *CRT
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1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160

1170

1180
1190
1195
1200
1210
1220
1230
1240
1250
1255
1260
1270
1280
1300
1310
1320
1330
1340
1345
1350
1360
1365
1370
1380
1390
1400

ATAWUIN A.

TUTHA TN TIRANHACANUATAIL TARLAIDINAS ‘ludn'rw‘lﬁ'iuuaq\nmmua\l

? skespokskesksksksksksksksksiokokokokskokskokkskkkk sk kokskoksk sk kkokskkokokskok sk koo sk ok skok sk k ok

1% *
% SOLAR CELL  PERFORMANCE *
3 : X
Tk by 4140B pA METER HP and SOLAR SIMULATOR *
1* *
% 01/08/91 edited by SUWAT SOPITPAN *
Y% -

¥ sksgskskkskskokskekskokokskskskskokekokok ok kokskokskokskokokkokkkek ok ok sk kock ko kkckskokokok sk kskk

)

2 for SEAQUENSIAL FILE

? MAIN PROGRAM

GOSUB *DATASET
*MAIN

CONSOLE 0,25,041/ :CLS_3

COLOR 6

:LOCATE 16,3 :PRINT "**¥***%* SOLAR CELL PERFORMANCE ¥¥*¥kkx"
COLOR 5

:LOCATE 26,5 :PRINT "TASK SELECTION"
LOCATE 22,7 :PRINT "1  AUTO MEASUREMENT"

LOCATE 22,8 :PRINT "2 DATA TREATMENT"

LOCATE 22,9 :PRINT "3 QUIT"

COLOR 2:LOCATE 22,11:PRINT "PRESS YOUR CHOICE NUMBER"
COLOR® (22,7)-(22,9),2

*LOOP1 : C$=INKEY$

IF C$="" THEN *LOOP1

IF C$="1" THEN GOSUB *MEASURE

IF C$="2" THEN GOSUB *DATATRE

IF C$="3" THEN GOTO *BYE

GOTO *MAIN

*BYE : END

DATA SET

¥DATASET :C1=LOG(10)

DEFINT I,K-N

DIM V(500),J(500)

AREA=.26 :PIN=100

PS=0:PT=.8:PD=.1:PE=.01

DATTE$=DATE$ :USE$="N"

DIM IPXLAB(50),IPYLAB(50),XLAB(50),YLAB(50)
DIM P(500),T(500),IX(500),IY(500)

DIM XLAB$(50),YLAB$(50),A1$(500),BB$(500),B1$(2)
YTIT$="J (mA/cm”~2)":XTIT$="VOLTAGE (V)"
DV$="A: "

RETURN



1410

10000
10010
10020
10030
10040
10050
10120
10125
10130
10140
10170
10180
10185
10190
10200
10210
10220
10225
10230
10240
10250
10260
10270
10300
10310
10330
10340
10350
10360

10370
10380
10390
10400
10401
10402
10403
10404
10405
10410
10420
10430
10440
10450
10460
10470
10480
10490
10491
10492
10493
10494
10495
10496
10497

)
’

*MEASURE
GOSUB *INITSET
GOSUB *DEVICESET

I=0
’

WHILE J(I)>-.000001
b}

I=I+1

’

GOSUB *JREAD
GOSUB *WDATA

IF STS$ =

WEND

*¥ITOT :
b

AUTO MEASUREMENT ROUTINE
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"L" THEN GOTO *ITOT

ITOT=I1

GOSUB *DVCRESET
GOSUB *PARACALC
FOR I=1 TO ITOT :T(I)=V(I) :P(I)=J(I) :NEXT I

GOTO *DISPLY
)

*INITSET
CONSOLE 0,25,0,1 :CLS 3

COLOR 6

: LOCATE
LOCATE
LOCATE
LOCATE
LOCATE
LOCATE
LOCATE
LOCATE
LOCATE
LOCATE
COLOR@
COLOR@
COLOR@
COLOR@
COLOR@
COLOR®@
COLOR@
COLOR®@
COLOR@
COLOR@
COLOR®@
COLOR@
COLOR@
COLOR@
COLOR@
COLORR@

15,0
15,1
15,2
15,34
15,4;
1597
1546
15M%
15;8:

18,9

INITIAL DATA SET

PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT
PRINT

"ekkkckkckkkkkk INITIAL SET kkkkskoskskkskskskskk™
"SAMPLE NAME" ; SPACE$ (23 ) ; SAMPLES$

"DATE" ; SPACE$(30) ; DATTES

"CELL AREA (cm”2)";SPACE$(17);AREA

"P INPUT (mW/cm”2)";SPACE$(16);PIN

"FROM (V)" ;SPACE$(26);PS

"TO (V)" ;SPACE$(26);PT

"STEP (V)" ;SPACE$(25);PE

"DELAY TIME (S)"SPACE$(19);PD

"USE DIVIDER 10:1(Y/N)";SPACE$(9);USE$

(15,1)-(31,8),5 :COLOR 7
(15,1)-(31,1),7:LOCATE 47,1 :INPUT ;C$
(15,1)-(31,1),5:IF C$<>"" THEN SAMPLE$=C$
(15,2)-(31,2),7:LOCATE 47,2 :INPUT ;C$
(15,2)-(31,2),5: IF C$<>"" THEN DATTE$=C$
(15,3)-(31,3),7:LOCATE 47,3 :INPUT ;C$
(15,3)-(31,3),5:IF C$<>"" THEN AREA=VAL(CS$)
(15,4)-(31,4),7:LOCATE 47,4 :INPUT ;C$
(15,4)-(31,4),5:IF C$<>"" THEN PIN=VAL(C$)
(15,5)-(31,5),7:LOCATE 47,5 :INPUT ;C$
(15,5)-(31,5),5:IF C$<>"" THEN PS=VAL(C$)
(15,6)-(31,6),7:LOCATE 47,6 :INPUT ;C$
(15,6)-(31,6),5:IF C$<>"" THEN PT=VAL(C$)
(15,7)-(31,7),7:LOCATE 47,7 :INPUT ;C$
(15,7)-(31,7),5:IF C$<>"" THEN PE=VAL(C$)
(15,8)-(31,8),7:LOCATE 47,8 :INPUT ;C$



10498
10499
10500
10501
10502
10503
10504
10505
10506
10507
10508
10510

10520
10530
10540
10550
10560
10570
10580
10590
10600
10610
10620
10630
10640
10650
10660
10670
10680
10690
10700
10710
10720
10730
10740
10750
10760
10770
10780
10790
10800
10810
10820
10830
10831
10832
10833
10834
10835
10836
10840
10841
10850
10860
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COLOR® (15,8)-(31,8),5:IF C$<>"" THEN PD=VAL(C$)
COLOR® (15,9)-(31,9),7:LOCATE 47,9 :INPUT ;C$

IF C$<>"Y" AND C$<>"N" AND C$<>"" THEN GOTO 10499
COLOR® (15,9)-(31,9),5:IF C$<>""THEN USE$=C$

IF USE$ ="Y" THEN DIV =10

IF USE$ ="N" THEN DIV = 1

LOCATE 15,10:PRINT "ARE YOU SURE ???(Y/N)"

LOCATE 47,10

IF C$="Y" THEN GOTO 10510 ELSE GOTO *INITSET

)
)

LOCATE 15,10

:PRINT "OPEN THE SHUTTER AND HIT ANY KEY !!!";
:C$=INPUTS$(1)

)

'—— DISPLAY DURING MEASUREMENT
CONSOLE 8,25,0,1:CLS 1 :COLOR 5

LOCATE 15,10 :PRINT "VOLTAGE (v)"
LOCATE 45,10 :PRINT "CURRENT (mA/cm”2)"
K=0 3

RETURN

’

: DEVICE INITIAL SET
*DEVICESET

ISET IFC :ISET REN :CMD DELIM=0

. e 4140B SET (I)

FC=2 ' function (I-V)

RA=1 ’ I-range (AUTO)
HC=12’ limit auto range (1E-12A)
IC=3 ’ integration time (LONG)

Jo=1 2 Filter (ON)

TC=1 ’ I-trigger ( INTERNAL)
AC=3 ’ Va-mode (SINGLE STAIRCASE)
BC=2 ’ vb-mode (OFF)

LC=3 ’ Va I-1limit (1E-2A)

WC=1 ’ sweep control (auto start)
3

F$="F"+STR$(FC)

RA$="RA"+STR$(RA)

H$="H"+STR$ (HC)

I$="I"+STR$(IC)

J$="J"+STR$(JC)

T$="T"+STR$(TC)

A$="A"+STR$ (AC)

B$="B"+STR$(BC)

L$="L"+STR$(LC)

PH=PD

PS$="PS"+STR$(PS)

PT$="PT"+STR$ (PT)

PE$="PE"+STR$(PE)

PH$="PH"+STR$ (PH)

PD$="PD"+STR$ (PD)

W$="W"+STR$ (WC) : PC1$=F$+RAS+H$+I1$+IJ$+T$+A$+B$+L$
P02$=PS$+" A "+PT$+" 5 "+PE$+" 5 "+H{$+" ; "+PD$

PRINT@ 16;PC1l$ : PRINT@ 16;PC2$ : PRINT@ 16;W$ : RETURN
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10870 ’ DATA READ ROUTINE
10880 *JREAD

10890 INPUT@ 16; A$,B$

10891 °’

10900 V(I)=VAL(MID$(B$,2,7))

10910 J(I)=VAL(MID$(A$,3,10))*-1000%DIV/AREA
10915 STS$=MID$(A$,1,1)

10920 RETURN

10930 ’

11050 °’ DATA CALUCULATION
11060 *PARACALC

11070 VvOC=(V(ITOT)+V(ITOT-1))/2

11080 JSC=J(1)

11090 °’

11100 WMAX=0:MAXNUM=1

11110 FOR I=1 TO ITOT

11120  W=J(I)*V(I)

11130 IF WMAX<W THEN WMAX=W :MAXNUM=I
11140 NEXT I

11150

11160 FF=WMAX*100/(JSC*VOC)

11170 CONV=WMAX*100/PIN

31180 ?

11190 RETURN

11200 °’

11810 ! DEVICE RESET
11220 ¥DVCRESET

11230 PRINT@ 16;"W7"

11240 IRESET REN

11250 RETURN

11260 °

11290 * DATA DISPLAY ROUTINE
11300 *WDATA

11310 COLOR 7

11320 IF I MOD 10=1 THEN K=K+10 :CONSOLE 11,10,0,1 :CLS 1
11330 LOCATE 20,20+(I-K) :PRINT V(I);
11340 LOCATE 48,20+(I-K) :PRINT J(I);
11350 RETURN

11360 ’

20000 °’ - DATA TREATMENT
20010 °’

20020 *DATATRE:CLS 3

20030 COLOR 6:LOCATE 27,0

20040 PRINT "*¥* DATA TREATMENT ¥**"
20050 COLOR 5:LOCATE 31,2:PRINT "MODE SELECTION"

20060 LOCATE 27,4 :PRINT "1 LOAD DATA"

20070 LOCATE 27,6 :PRINT "2 GO TO TASK SELECTION"
20080 LOCATE 27,10:PRINT "PRESS YOUR CHOICE NUMBER"
20090 COLOR@ (27,4)-(27,10),2:COLOR@ (27,10)-(51,10),2
20100 *LOOP100:C$=INKEY$

20110 IF C$="" THEN *LOOP100

20120 IF C$="1" THEN *CAL

20130 IF C$="2" THEN RETURN

20140 GOTO *DATATRE

20150 °’

20170 °’ DATA CALCULATION




20180
20190
20200
20210
20220
20230
20240
20260
20270
20280
20290
20300
20310
20320
20330
20340
20350
20360
20370
20380
20390
20400
20410
20420
20430
20440
20450
20460
20470
20480
20490
20500
20510
20520
20530
205640
20545
20550

20560
20580
20583
20586
20590
20600
20610
20620
20630
20640
20650
20660
20670
20680
20690
20700
20710

*CAL

CONSOLE 0,25,0,1 :CLS 1 :COLOR 7
GOSUB *READFILE
GOSUB *LDDISP
GOSUB *DISPLY

RETURN

’
3

*DISPLY
GOSUB *MINMAX: GOSUB *XYDTMN
GOSUB *COMGRA :GOSUB *CRT :GOSUB *HC :GOTO *DISPLY

’

’

GRAPHIC DISPLAY ON CRT
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MINMUM AND MAXMUN

*MINMAX :PMAX=-1E+10 :PMIN=0 :TMAX=-1E+10 :TMIN=0

FOR I=1

TO ITOT

'IF T(I)<TMIN THEN TMIN=T(I)
'IF P(I)<PMIN THEN PMIN=P(I)
IF T(I)>TMAX THEN TMAX=T(I)

IF P(I)>PMAX THEN PMAX=P(I)
NEXT I
RETURN

]

Ve XMIN,XMAX,YMIN, YMAX DETERMINATION
*XYDTMN

CONSOLE 0,25,0,1 :CLS'1 :COLOR 7

PRINT "XMIN=";TMIN

PRINT "XMAX=";TMAX

PRINT "YMIN=";PMIN

PRINT "yMAX=";PMAX :COLOR 6

LOCATE 18,2 :PRINT "PLOTTING TASK AND SELECTION" :COLOR 5
LOCATE 21,4 :PRINT "No.=0 X-axis - Y-axis" :COLOR 0

LOCATE 19,6 :PRINT "RETURN Plotting "

LOCATE 21,8 :PRINT "1 New Ref. Loading"

LOCATE 21,9 :PRINT "2 Store this DATA"

LOCATE 21,10:PRINT "3  Next Measurement"

COLOR® (21,8)-(21,10),2 : COLOR® (19,6)-(24,6),2

COLOR@ (25,6)-(45,10),5 : COLOR 5

LOCATE 18,12

:INPUT "No. to choose ITEM ;Press RETURN";IOPO

IF (IOPO<>1) AND (IOP0<>2) AND (IOP0<>3) THEN IOP0=0

IF IOPO=1 THEN *DATATRE

IF IOP0=2 THEN GOSUB *STOREDATA :RETURN *MEASURE

IF IOP0=3 THEN RETURN *MEASURE

IOP11=I0P0 MOD 2

IOP12=I0P0 ¥ 2

*JUMP11 :TMIN=0 :TMAX=1 :PMIN=0 :PMAX=20

LOCATE 21,14:PRINT "X-Axis From ( ? )";TAB(41);TMIN ' XMIN
LOCATE 21,15:PRINT " To ( ? )";TAB(41);TMAX ' XMAX
LOCATE 21,16:PRINT "Y-Axis From ( ? )";TAB(41);PMIN ’YMIN
LOCATE 21,17:PRINT " To ( ? )";TAB(41);PMAX ’YMAX
COLOR® (21,14)-(55,14),7 :LOCATE 55,14 :PRINT SPC(20)
LOCATE 55,14 :INPUT "";XMIN$

IF XMIN$="" THEN XMIN=TMIN ELSE XMIN=VAL(XMIN$)

LOCATE 39,15 :PRINT SPC(1) :COLORe@ (21,14)-(79,14),5

COLOR@ (21,15)-(55,15),7 :LOCATE 55,15 :PRINT SPC(20)
LOCATE 55,15 :INPUT "";XMAX$



20720
20730
20740
20750
20760
20770
20780
20790
20800
20810
20820
20830
20840
20850
20860
20870
20880
20890
20900
20910
20920
20930
20940
20950
20960
20970
20980
20990
21000
21010
21020
21030
21040
21050
21060
21070
21080
21090
21100
21110
21120
21130
21140
21150
21160
21170
21180
21190
21200
21210
21220
21230
21240
21250
21260
21270

IF XMAX$="" THEN XMAX=TMAX ELSE XMAX=VAL(XMAX$)

LOCATE 39,15

:PRINT SPC(1) :COLORe (21,15)-(79,15),5

IF XMIN>=XMAX THEN *JUMP11

IF (IOP11=1)

AND ((XMIN<=0) OR (XMAX<=0)) THEN *JUMP11

120

*JUMP12 :COLOR@ (21,16)-(55,16),7 :LOCATE 55,16 :PRINT SPC(20)

LOCATE 55,16

:INPUT "";YMIN$

IF YMIN$="" THEN YMIN=PMIN ELSE YMIN=VAL(YMIN$)

LOCATE 39,16

:PRINT SPC(1) :COLOR@ (21,16)-(79,16),5

COLOR@ (21,17)-(55,17),7 :LOCATE 55,17 :PRINT SPC(20)

LOCATE 55,17

:INPUT "";YMAX$

IF YMAX$="" THEN YMAX=PMAX ELSE YMAX=VAL(YMAX$)

LOCATE 39,17

:PRINT SPC(1) :COLORe (21,17)-(79,17),5

IF YMIN>=YMAX THEN *JUMP12

IF (I0OP12=1)

ZMIN=XMIN
IOP1=IO0OP11
GOSUB *SCALE
IOPX3=I0P3
IOPX4=10P4
NXT=NZT
XORG2=Z0ORG2
XT=ZT
ZMAX=YMAX
ZMIN=YMIN
IOP1=I0OP12
GOSUB *SCALE
IOPY3=I0P3
IOPY4=I0P4
NYT=NZT
YORG2=ZORG2
YT=ZT

RETURN

b}

b

AND ((YMIN<=0) OR (YMAX<=0)) THEN *JUMP12

*SCALE

SCALING SUBROUTINE

IF IOP1=1 THEN *JUMP13
LZ=INT(LOG(ZMAX)/C1)

ZT=10"LZ

IZORG1=INT(ZMIN/ZT)

ZORG1=ZT*IZORG1

IZORG2=INT(ZMAX/ZT)

IF IZORG2<>ZMAX/ZT THEN IZORG2=IZORG2+1
ZORG2=ZT*IZORG2

GOTO *JUMP14

*JUMP13:0Z=LOG(ZMAX) /C1
IZORG2=INT(0Z)

IF IZORG2<>0Z THEN IZORG2=IZORG2+1
IZORG1=INT(LOG(ZMIN)/C1)

ZORG2=IZORG2
ZORG1=IZORG1
ZT=1



21280
21290
21300
21310
21320
21330
21340
21350
21360
21370
21380

21390
21400
21410
21420
21430
21440
21450
21460
21470
21480
21490
21500
21510
21520
21530
21540
21550
21560
21570
21580
21590
21600
21610
21620
21630
21640
21650
21660
21670
21680
21690
21700
21710
21720
21730
21740
21750
21760
21770
21780
21790
21800
21810
21820

*JUMP14
I0P2=1
NZT=IZORG2-IZORG1
IF (IOP1=0) AND (NZT=1) THEN ZT=ZT*.1:NZT=10
IF (IOP1=0) AND (NZT=2) THEN IOP2=2
NZT=NZT*I0P2
ZT=ZT/I0P2
I0P3=1
IF (IOP1=0) AND ((NZT>5) OR (IOP2=2)) THEN IOP3=2
10P4=1
IF (IOP1=0) AND (IZORG2 MOD 2<>0) AND
(IZORG2-IZORG1<>1) AND (IOP3=2) AND (IOP2=1) THEN IOP4=2
RETURN
3
. PLOT ON CRT
*CRT
IPXORG1=100
IPXORG2=500
IPYORG1=340
IPYORG2=40
CONSOLE 0,25,0,1 :SCREEN 3,0,0,1 :COLOR 7,0,0,5
IPXTIT=( IPXORG1+IPXORG2 )*.5-LEN(XTIT$ )*7
IPYTIT=( IPYORG1+IPYORG2)*.5-LEN(YTIT$)*10
PXT=( IPXORG2-IPXORG1 ) /NXT
FOR I=1 TO NXT+1
IPXLAB( I )=IPXORG2-PXT*(I-1)
XLABS$ (I )=STR$ (XORG2-XT*(I-1))
'IF IOP11=1 THEN XLAB$(I)="1E"+XLAB$(I)
NEXT T
PYT=( IPYORG1-IPYORGZ2 ) /NYT
FOR I=1 TO NYT+1
IPYLAB( I )=IPYORG2+PYT*(I-1)
YY=YORG2-YT*(I-1)
IF ABS(YY)<.0001 THEN YY=0
YLAB$ (I )=STR$(YY)
NEXT I
A=PXT/XT:B=PYT/YT
FOR I=1 TO ITOT
IF IOP11=1 THEN *JUMP15
IX(I)=IPXORG2+(T(I)-XORG2)*A :GOTO *JUMP16
*JUMP15 :IF T(I)<=0 THEN IX(I)=IPXORGl :GOTO *JUMP16
IX(I)=IPXORG2+(LOG(T(I))/C1-XORG2)*A
*JUMP16 :IF IX(I)<IPXORGl THEN IX(I)=IPXORG1
IF IX(I)>IPXORG2 THEN IX(I)=IPXORG2
IF IOP12=1 THEN *JUMP17
IY(I)=IPYORG2-(P(I)-YORG2)*B :GOTO ¥JUMP18
*JUMP17 :IF P(I)<=0 THEN IY(I)=IPYORG1l :GOTO *JUMP18
IY(I)=IPYORG2-(LOG(P(I))/C1-YORG2)*B
*JUMP18 :IF IY(I)>IPYORG1 THEN IY(I)=IPYORG1
IF IY(I)<IPYORG2 THEN IY(I)=IPYORG2
NEXT I :BBB=B
SCREEN 3,0,0,0 :CLS 3
POINT (IPXORG2,IPYORG1)
FOR I=2 TO NXT+1
LINE -(IPXLAB(I),IPYORGl) :LINE -STEP(0,-8) :POINT STEP(0,8)
NEXT I
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21830
21840
21850
21860
21870
21880
21890
21900
21910
21920
21930
21940
21950
21960
21970
21980
21990
22000
22010
22020
22030
22040
22050
22060
22070
22080
22090
22100
22110
22120
22130
22140
22150
22160
22170
22180
22190
22200
22210
22220
22230
22240
22250
22260
22270
22280
22290
22300
22310
22320
22330
22340
22350
22360
22370
22380
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FOR I=NYT TO 1 STEP -1

LINE -(IPXORG1,IPYLAB(I)) :LINE -STEP(4,0) :POINT STEP(-4,0)
NEXT I

FOR I=NXT TO 1 STEP -1

LINE —(IPXLAB(I),IPYORG2) :LINE -STEP(0,8) :POINT STEP(0,-8)
NEXT I

FOR I=2 TO NYT+1

LINE -(IPXORG2,IPYLAB(I)) :LINE -STEP(-4,0) :POINT STEP(4,0)
NEXT I

FOR I=IOPX4 TO NXT+1 STEP IOPX3

A=LEN(XLAB$(I))

IF IOP11=1 THEN *JUMP19

PXL=8%A%*,5

FOR J=1 TO A

A2$=MID$(X1.AB$(1),J,1)

PUT (IPXLAB(I)-PXL+8%(J-1),IPYORG1+6),KANJI(ASC(A2$)),PSET
NEXT J

GOTO *JUMP20

*JUMP19 :PUT(IPXLAB(I)-15,IPYORG1+13),KANJI(49),PSET

PUT (IPXLAB(I)-7,IPYORG1+13),KANJI(48),PSET

FOR J=1 TO A

A2$=MID$ (XLAB$(I),J,1)

PUT (IPXLAB(I)+7%(J-1),IPYORG1+5),KANJI(ASC(A2¢$)+256),PSET
NEXT J

*JUMP20 :NEXT I

AA=0

FOR I=IOPY4 TO NYT+1 STEP IOPY3

A=LEN(YLAB$(I))

IF A>AA THEN AA=A

NEXT I

FOR I=IOPY4 TO NYT+1 STEP IOPY3

A=LEN(YLAB$(I))

IF IOP12=1 THEN *JUMP21

PYL=8%A+5

FOR J=1 TO A

A2$=MID$ (YLAB$(I),J,1)

PUT (IPXORG1-PYL+8*(J-1),IPYLAB(I)-7),KANJI{ASC(A2$)),PSET
NEXT J

GOTO *JUMP22

*JUMP21 :PUT (IPXORG1-8%AA-15,IPYLAB(I)),KANJI(49),PSET
PUT (IPXORG1-8*AA-7,IPYLAB(I)),KANJI(48),PSET

FOR J=1 TO A

A2$=MID$(YLAB$(I),J,1)

PUT (IPXORG1+8%*(-AA+J-1),IPYLAB(I)-8),KANJI(ASC(A2¢$)+256),PSET
NEXT J

*JUMP22 :NEXT I

A=LEN(XTIT$)

B=IPYORG1

IF IOP11=1 THEN B=B+38 ELSE B=B+30

FOR I=1 TO A

A2$=MID$ (XTITS$,I,1)

PUT (IPXTIT+14%(I-1),B),KANJI(ASC(A2$)),PSET,5,0

NEXT I

A=LEN(YTIT$)

B=IPXORG1-10-AA*8

IF IOP12=1 THEN B=B-28



22390
22400
22410
22420
22430
22440
22450
22460
22470
22480
22490
22500

22510

22520

22530

22540

22550

22560

22570

22580

22590

22600
22610
22620
22630
22640
22650
22655
22660
22670
22680

22690
22700
22710
22720
22730
22740
22750
22760
" 22770
22780
22790
22800
22810

FOR I=1 TO A
A2$=MID$(YTIT

$,I,1)

PUT (B,IPYTIT+17%(I-1)),KANJI(ASC(A2$)),PSET,5,0

NEXT I

FOR I=1 TO ITOT-1
LINE(IX(I),IY(I))-(IX(I+1),IY(I+1)),2

NEXT I
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LINE( IPXORG1 , IPYORG2+BBB*YORG2 ) - ( IPXORG2 , IPYORG2+BBB*YORG2) , 5
CIRCLE (IX(MAXNUM),IY(MAXNUM)),4,4

SCREEN ,,,1

LOCATE 45,3
:PRINT USING
LOCATE 45,4
:PRINT USING
LOCATE 45,5
:PRINT USING
LOCATE 45,6
:PRINT USING
LOCATE 45,7
:PRINT USING
LOCATE 45,8
:PRINT USING
LOCATE 45,9
:PRINT USING
LOCATE 45,10
:PRINT USING
LOCATE 45,11
:PRINT USING
LOCATE 45,12
:PRINT USING

*PLOTTER

"SAMPLE NAME
"DATE
"Area (cm
"Pin (mW/cm
"Voc

"Ist

"Vmax
"Jmax
"Fill

Factor

"Conv.Effi

ISET IFC :ISET REN
IPXMAX=3000 :IPYMAX=3000

IPXORG1=200 :IPXORG2=200+1800 :IPYORG1=220 :IPYORG2=220+1200

~p)=

~5)=

(V)=

(mA/cm”2)=

(V)=

(mA/cm”2)=

(%)=

(%)=

PLOT ON PLOTTER

&
& &
#4444
#H#
#.H43#
FH.REET
# EEHE
FHOHREH
FHEHAF
R RFRF

&" ; SAMPLE$
" ; DATTE$
" . AREA
"sPIN
";VOC
ISt
" V(MAXNUM)
"3 J (MAXNUM )
".FF

";CONV

IPXD=200+1300 :IPYD=220+1150 :IST2=40 :IQT2=30
IPXCOM=200+2330 :IPYCOM=220+1200 :IPXSAM=200+2400

: IPYSAM=220+1200

PRINT@ 16;""260,70,¥-260,-70,Z" , IPXMAX, IPYMAX, "M",
PRINT@ 16; IPXORG2,IPYORGL,",J1,L0"
IST=60 :IQT=50 :IS10=50 :IQ10=30

ISEXP=30 :IQEXP=18 :ISL=50 :IQL=30

CLS 1

LOCATE
LOCATE
LOCATE
LOCATE
LOCATE
LOCATE
COLOR@
LOCATE

21,3
2155
i
21,9
2101
21, 14:
(21,5)
11,16

:PRINT "ID ITEM" :COLOR O
:PRINT "O Dot with Axes"
:PRINT "1 Line with Axes"
:PRINT "2 Dot without Axes"
PRINT "3 Line without Axes"
PRINT "4 No Plot"
-(21,14),2

:COLOR® (26,5)-(50,14),5 :COLOR 5

:INPUT "Type ID # to choose ITEM ;Press RETURN";IOP5

:COLOR 6 :LOCATE 26,1 :PRINT "FORMAT SELECTION":COLOR 5
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22820 IOP51=I0P5 MOD 2 :I0P52=I0P5 ¥ 2

22830 IF I0P5>4 THEN *PLOTTER ELSE IF IOP5=4 THEN RETURN ELSE
IF IOP51=1 THEN *JUMP23

22840 CONSOLE 3,22,0,1 :CLS 1 :CONSOLE 0,25,0,1 :COLOR 0O

292850 LOCATE 21,4 :PRINT "0 poT"

22860 LOCATE 21,6 :PRINT i CIRCLE"

22870 LOCATE 21,8 :PRINT "2 CROSS"

22880 LOCATE 21,10:PRINT '3 TRIANGLE"

22890 LOCATE 21,12:PRINT "4 SCARE"

22900 COLOR@ (21,4)-(21,12),2 :COLOR@ (26,4)-(40,12),5 :COLOR 5

22910 LOCATE 11,14
- INPUT "Type ID # to choose ITEM ;Press RETURN" ; IDOT

22920 IF (IDOT=3) OR (IDOT=4) THEN IDOT=7-1DOT

22930 IF (IDOT=0) OR (IDOT=1) THEN IDOT=1IDOT*4+1

22940 IF IDOT=2 THEN IDOT=7

22950 GOTO *JUMP24

22960 *JUMP23 :CONSOLE 3,22,0,1 :CLS 1 :CONSOLE 0,25,0,1 :COLOR O

22970 LOCATE 21,4 :PRINT "aaad g "

292980 LOCATE 21,6 :PRINT "1 o= ="

22990 LOCATE 21,8 :PRINT "2 ~%~%~%="
23000 LOCATE 21,10:PRINT "3 ~%%-%%~"

23010 COLOR® (21,4)-(21,10),2 :COLOR@ (26,4)-(40,10),5 :COLOR 5
23020 LOCATE 11,12

-INPUT "Type ID # to choose ITEM ;Press RETURN" ; LINNE
23030 IF LINNE=0 THEN LINNE=-1
23040 LINNE=LINNE*2+2
03050 *JUMP24 :IPEN=1 ’OCATE 21,16 :INPUT "Pen # ";IPEN
23055 LOCATE 21,18

.INPUT "INFORMATION (NEED = 1) or (NOT = ELSE)";INFO
93060 IPXTIT=(TPXORG1+IPXORG2)*.5-((LEN(XTITS$)-1)*IQT+IST*.57)*.5
93070 IPYTIT=(IPYORG1+IPYORG2)*.5-((LEN(YTIT$)-1)*IQT+IST*.57)*.5
23080 PXT=(IPXORG2-IPXORG1)/NXT .
23090 FOR I=1 TO NXT+1
23100 IPXLAB(I)=IPXORG2-PXT*(I-1)
23110 XLAB(I)=XORG2-XT*(I-1)
23120 NEXT I
23130 PYT=(IPYORG2-IPYORG1)/NYT
23140 FOR I=1 TO NYT+1
23150 IPYLAB(I)=IPYORG2-PYT*(I-1)
23160 YLAB(I)=YORG2-YT*(I-1)
23170 NEXT I
23180 A=PXT/XT :B=PYT/YT
23190 FOR I=1 TO ITOT
23200 IF IOP11=1 THEN *JUMP25
23210 IX(I)=IPXORG2+(T(I)-XORG2)*A
23220 GOTO *JUMP26
93230 *JUMP25 :IF T(I)<=0 THEN IX(I)=IPXORGl :GOTO *JUMP26
93240 IX(I)=IPXORG2+(LOG(T(I))/C1l-XORG2)*A
23250 *JUMP26 :IF IOP12=1 THEN *JUMP27
23260 IY(I)=IPYORG2+(P(I)-YORG2)*B
23270 GOTO *JUMP28
53980 *JUMP27 :IF P(I)<=0 THEN IY(I)=IPYORGl :GOTO *JUMP28
23290 IY(I)=IPYORG2+(LOG(P(I))/C1-YORG2)*B
23300 *JUMP28 :NEXT I
23320 IF IOP52=1 THEN *JUMP61
23330 FOR I=2 TO NXT+1



23340
23350
23360
23370
23380
23390
23400
23410
23420
23430
23440
23450
23460
23470
23480
23490
23500

23510
23520
23530
23540
23550

23560
23570

23580
23590
23600
23610
23620
23630
23640
23650
23660
23670
23680

23690
23700
23710
23720
23730

23740
23750

23760
23770
23780
23790
23800
23810
23820
23830

PRINT@ 16;"D",IPXLAB(I),IPYORG1,CHR$(3),"E0,20,0,-20",CHR$(3)
NEXT I
FOR I=NYT TO 1 STEP -1
PRINT@ 16;"D",IPXORG1,IPYLAB(I),CHR$(3),"E20,0,-20,0",CHR$(3)
NEXT I
FOR I=NXT TO 1 STEP -1
PRINT@ 16;"D",IPXLAB(I),IPYORG2,CHR$(3),"E0,-20,0,20",CHR$(3)
NEXT I
FOR I=2 TO NYT+1
PRINT@ 16;"D",IPXORG2,IPYLAB(I),CHR$(3),"E-20,0,20,0",CHR$(3)
NEXT I
IA10=IQ10+IS10%.57
FOR I=IOPX4 TO NXT+1 STEP IOPX3
IF IOP11=1 THEN *JUMP29
A=LEN(STR$(XLAB(I)))
PXL=IQL*A*.5
PRINT@ 16;"M",IPXLAB(I)-PXL,IPYORG1+75-ISL-20,
" ,S" ,ISL, " ,Q" 2 IQL, " ,P"
PRINT® 16;XLAB(I)
PRINT@ 16;CHR$(3)
GOTO *JUMP30
*JUMP29 :A=IPYORG1-ISEXP-20
PRINT@ 16;"M",IPXIAB(I)-IA10,A-IS10,
" ,S" g IS].O, " ,Q" . IQ].O, " ,P].O"
PRINT@ 16;CHR$(3)
PRINT@ 16;"M",IPXLAB(I),A+IS10,
" ,S" ,ISEXP, " ,Q" ,IQEX:P, " ,P"
PRINT@ 16;XLAB(I)
PRINT@ 16;CHR$(3)
*JUMP30 :NEXT I
FOR I=IOPY4 TO NYT+1 STEP IOPY3
A=LEN(STR$ (YLAB(I)))
IF A>AA THEN AA=A
NEXT I
FOR I=IOPY4 TO NYT+1 STEP IOPY3
IF IOP12=1 THEN *JUMP31
PYL=IQL*AA
PRINT@ 16;"M",IPXORG1-PYL-20,IPYLAB(I)+75-ISL*.5,
" ,S" ,ISL, " ,Q" ,IQL, " ,P"
PRINT@ 16;YLAB(I)
PRINT® 16;CHR$(3)
GOTO *JUMP32
*JUMP31 :A=IPXORG1-IQEXP*AA-10
PRINT®@ 16;"M",A-IA10,IPYLAB(I)-IS10,
" 8", 1s10,",@",1q10,." . Pl0"
PRINT@ 16;CHR$(3)
PRINT@ 16;"M",A,IPYLAB(I)+IS10,
" ,S" £ ISEXP, " ,Q“ : IQE)CP, 7" ,P“
PRINT@ 16;YLAB(I)
PRINT@ 16;CHR$(3)
*JUMP32 :NEXT I
A=IPYORG1-IST-70+90
IF IOP11=1 THEN A=A-ISEXP-IS10 ELSE A=A-ISL
PRINT® 16;"M",IPXTIT,A,",S",IST,",Q",IQT,",P"
PRINT®@ 16;XTIT$
PRINT@ 16;CHR$(3)
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23840
23850
23860
23870
23880
23890
23895
23900
23910
23920
23930
23940
23950
23960
23970
23980
23990
24000
24010
24020
24030
24040
24050
24060
24070
24080
24090
24100
24110
24120
24130
24140
24150
24160
24170
24180
24190
24200
24210
24220
24230
24240
24250
24260

24270
24280
24290
24300
24310
24320
24330
24340
24350
24360
24370
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A=IPXORG1-IST-85

IF IOP12=1 THEN A=A-AA¥IQEXP-IA10 ELSE A=A-AA¥IQL
PRINT@ 16;"M",A,IPYTIT,"S",IST,"Q",IQT,"R900,P"
PRINT@ 16;YTIT$

PRINT@ 16;CHR$(3)

PRINT@ 16;"A"

IF INFO<>1 THEN *JUMP61

PRINT@ 16;"M", IPXSAM,IPYSAM,"S",IST,"Q",IQT, "R-900,P"
PRINT@ 16 ;SAMPLE$

PRINT@ 16;CHR$(3)

PRINT@ 16;"M", IPXCOM, IPYCOM,"P"

PRINT@ 16 ;COMMEN$

PRINT@ 16;CHR$(3)

PRINT@ 16;"A"

PRINT@ 16;"S",IST2,"Q",IQT2

PRINT@ 16;"M",IPXD,IPYD,"P"

PRINT@ 16;"Date "+DATES

PRINT@ 16;CHR$(3)

PRINT@ 16;"M",IPXD,IPYD-(IST2+10),"P"
PRINT@ 16;"Area (cm™2)"+STR$ (AREA)
PRINT@ 16;CHR$(3)

PRINT@ 16;"M",IPXD,IPYD-(IST2+10)%*2,"P"
PRINT@ 16;"Pin (mW/cm”2)"+STR$(PIN)
PRINT@ 16;CHR$(3)

PRINT® 16;"M'",IPXD,IPYD-(IST2+10)%*3,"P"
PRINT®@ 16;"Voc (Volts)"+STR$(VOC)
PRINT@ 16;CHR$(3)

PRINT@ 16;"M",IPXD,IPYD-(IST2+10)*4,"P"
PRINT@ 16;"Jsc (mA/cm”2)"+STR$(JSC)
PRINT@ 16;CHR$(3)

PRINT@ 16;"M",IPXD,IPYD-(IST2+10)%5,"P"
PRINT@ 16;"Vmax  (Volts)"+STR$(V(MAXNUM))
PRINT@ 16;CHR$(3)

PRINT@ 16;"M",IPXD,IPYD-(IST2+10)%6,"P"
PRINT@ 16;"Jmax (mA/cm”2)"+STR$(J(MAXNUM))
PRINT@ 16;CHR$(3)

PRINT@ 16;"M",IPXD,IPYD-(IST2+10)*7,"P"
PRINT@ 16;"Fill factor(%)"+STR$(FF)
PRINT@ 16;CHR$(3)

PRINT@ 16;"M", IPXD,IPYD-(IST2+10)%8,"P"
PRINT@ 16;"Conv.effi. (%)"+STR$(CONV)
PRINT@ 16;CHR$(3)

PRINT@ 16;"A"

*JUMP61

:PRINT@ 16;"¥",IPXORG1,IPYORGL,",Z",IPXORG2, IPYORG2

IF IOP5=1 OR IOP5=3 THEN *JUMP33

FOR I=1 TO ITOT

PRINT® 16;"M",IX(I),IY(I),",J",IPEN,",S20,N",IDOT,",A"
NEXT I

GOTO *JUMP34

*JUMP33

PRINT@ 16;"M",IX(1),IY¥(1),",J",IPEN,",L",LINNE
FOR I=2 TO ITOT

PRINT@ 16;"D",IX(I),IY(I)

NEXT I

PRINT@ 16;CHR$(3),"A"
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24380 *JUMP34

24390 PRINT@ 16;"M",IX(MAXNUM),IY(MAXNUM),
",J",IPEN’",S40’N"’5,"’A"

24400 PRINT@ 16;"¥-260,-70,Z",IPXMAX, IPYMAX

24410 RETURN

24420 ’

24430 ’ —-——=———— HARD COPY THE GRAPH ON CRT or NOT —--—————-
24440 *HC

24450 LOCATE 14,5 :PRINT "** Hardcopy ¥*"

24460 LOCATE 14,6 :PRINT "Figure —=(1)"

24470 LOCATE 14,7 :PRINT "Figure and Inform.(2)"

24480 LOCATE 14,8 :PRINT "PLOTTER-—---—————- (3)"

24490 LOCATE 14,9 :PRINT Not =+ == (RETURN)"

24500 LOCATE 14,10:INPUT "";IOP8

24505 IF (IOP8<>1) AND (IOP8<>2) AND (IOP8<>3) THEN RETURN

24510 IF IOP8=3 THEN GOSUB *PLOTTER :RETURN

24520 IF (IOP8=1) OR (IOP8=2) THEN LPRINT CHR$(27);"!"
:COPY 2 :LPRINT CHR$(27);CHR$(34)

24530 IF IOP8<>2 THEN LPRINT CHR$(12) :RETURN

24540 LPRINT USING "SAMPLE NAME = & & ";SAMPLES;
24550 LPRINT USING "DATE =& & ";DATTE

24560 LPRINT USING "Area (cm™2)= ##.### ";AREA;
24570 LPRINT USING "Pin (mW/cm"2)= ### *:PIN

24580 LPRINT USING '"Voc (V)= #.#### "-VOC;

24590 LPRINT USING "Jsc (mA/cm”2)= ##.#### ";JSC

24600  LPRINT USING "Vmax (V)= #.434#4 ";V(MAXNUM) ;
24610 LPRINT USING "Jmax (mA/cm”2)= ##.4### ";J(MAXNUM)
24620 LPRINT USING "Fill Factor(%)= ##.#### b i i

24630 LPRINT USING "Conv.Effi (%)= ##.#### " ;CONV
24640
24650 LPRINT CHR$(12)
24660 RETURN
24670 °’
24680 ’—————————— DATA STORAGE
24690 *STOREDATA :CLS 3
24700 COLOR 6:LOCATE 10,0
24710 PRINT "*x* STORE THE DATA *¥x"
24720 COLOR 5:LOCATE 40,2 :PRINT "l1--———- 8"
24730 *JUMP106 :LOCATE 10,3:PRINT "DATE (8 CHARACTERS)"
: LOCATE 40,3:PRINT DATTE$
24735 COLOR 7 :LOCATE 40,3:LINE INPUT C$
:IF C$ <> "" THEN DATTE$ = C$
24740 IF LEN(DATTE$)>8 THEN *JUMP106
24750 COLOR 5:LOCATE 40,5 :PRINT "1-- 20"
24760 *JUMP107 :LOCATE 10,6:PRINT "SAMPLE NAME(20CHARACTERS)"
:LOCATE 40,6:PRINT SAMPLE$
24765 COLOR 7 :LOCATE 40,6:LINE INPUT C$
:IF C$<>"" THEN SAMPLE$=C$
24770 IF LEN(SAMPLE$)>20 THEN *JUMP107
24780 COLOR 5 :LOCATE 40,8 :PRINT "l1-————-—- 10" : FILE$ = SAMPLES
24790 *JUMP104 :LOCATE 10,9 :PRINT "FILE NAME (10 CHARACTERS)"
24795 COLOR 7 :LOCATE 40,9 : PRINT FILE$ : ’LINE INPUT FILES$
24800 IF LEN(FILE$)>10 THEN *JUMP104
24810 *JUMP105 :COLOR 5:LOCATE 40,11:PRINT "1 20"
24820 LOCATE 10,12:PRINT "COMMENT (20 CHARACTERS)" :COLOR 7
24825 LOCATE 40,12:LINE INPUT COMMEN$
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24830 IF LEN(COMMEN$)>20 THEN *JUMP105
24840 FOR I=1 TO ITOT :P(I)=V(I) :P(I+ITOT)=J(I) :NEXT I
24850 GOSUB *MAKEFILE :RETURN *DISPLY
24860 °*
24870 °’ LOADED DATA DISPLY
24880 *LDDISP:CLS 3 :COLOR 6
24890 LOCATE 20,0 :PRINT "#%¥k¥*k* LOADED DATA ¥¥k*kkx"
24900 COLOR 5:LOCATE 20,2 :PRINT "FILE NAME"
:COLOR 7:LOCATE 41,2 :PRINT FILE$
24910 COLOR 5:LOCATE 20,3 :PRINT "COMMENT"
:COLOR 7:LOCATE 41,3 :PRINT COMMENS$
24920 COLOR 5:LOCATE 20,4 :PRINT "SAMPLE NAME "
:COLOR 7:LOCATE 41,4 :PRINT SAMPLE$
24930 COLOR 5:LOCATE 20,5 :PRINT "DATE"
:COLOR 7:LOCATE 41,5 :PRINT DATTE$
24940 COLOR 5:LOCATE 20,6 :PRINT "CELL AREA (cm™2)"
:COLOR 7:LOCATE 41,6 :PRINT STR$(AREA)
24950 COLOR 5:LOCATE 20,7 :PRINT "P IN(mW/cm™2)"
:COLOR 7:LOCATE 41,7 :PRINT STR$(PIN)
24960 *JUMP1000:COLOR 6
:LOCATE 20,10 :PRINT "1 HARDCOPY & CONTINUE"
24970 LOCATE 20,11 :PRINT "2 NOT HARDCOPY & CONTINUE"
24980 COLOR@ (20,17)-(20,19),2 :COLOR@ (21,20)-(44,20),2
24990 *LOOP1000:C$=INKEY$
25000 IF C$="" THEN *LOOP1000
25010 IF C$="2" OR C$=CHR$(13)THEN *ESCAPE1000
25020 IF C$<>"1" THEN *JUMP1000
25030 CONSOLE 17,20,0,1 :CLS 3 :CONSOLE 0,25,0,1 :COPY
25040 *ESCAPE1000
25050 RETURN
25060 ’--- MAKING SEAQUENTIAL FILE -——-
25070 *MAKEFILE
25080 OPEN DV$+FILE$ AS #1
25090 WRITE #1,DATTE$; SAMPLE$ ; COMMEN$
25100 WRITE #1,FC;RA;HC;IC;JC;TC;AC;BC;LC;WC;PS;PT;PE;PH;PD
25110 WRITE #1,AREA;PIN;USE$
25120 WRITE #1,FF;CONV;VOC;JSC;ITOT
25130 FOR I=1 TO ITOT :WRITE #1,V(I);J(I) :NEXT I
25140 CLOSE #1

SN OO QOO0 O

25150 RETURN

25160 °’

25170 ’--- READ SEQUENTIAL FILE ---

25180 *READFILE

25190 FILES DV$ :INPUT "FILE NAME = ";FILE$

25200 OPEN DV$+FILE$ AS #1

25210 INPUT #1,DATTES$,SAMPLE$,COMMENS

25220 INPUT #1,FC,RA,HC,IC,JC,TC,AC,BC,LC,WC,PS,PT,PE,PH,PD
25230 INPUT #1,AREA,PIN ,USE$

25240 INPUT #1,FF,CONV,VOC,JSC,ITOT

25250 FOR I=1 TO ITOT :INPUT #1,V(I),J(I) :NEXT I
25260 CLOSE #1

25270 FOR I=1 TO ITOT :T(I)=V(I):P(I)=J(I):NEXT I
25275 GOSUB *PARACALC

25280 RETURN

25290 °’



100
110
120
130
140
150
160
180
185
190
200
205
210
215
220
225
230
240
250
260
900
1000
1010
1020
1030
1040
1050
1060
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
4000
4010
4020
4025
4027
4030
4040
4050
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PHOTO CURRENT RESPONSE MESUREMENT

for hp 4140B pA METER / DC VOLTAGE SOURCE

19/07/1991 by Suwat Sopitpan

CONSOLE 0,25,0,1
DELAY = 9000
DIM A$[18]
DIM EA(200), CURRENT(200)
DIM WLENGTH(200)
*SHOW
CONSOLE 0,25,0,1
IF ( SELECT = DOG ) GOTO 990
GOSUB *MENU
*LOOP1
LOCATE 15,20
ON SELECT GOSUB *PICO, *FSAVE, *EPSON, *BYE
GOTO *SHOW
’

*DATSET
WLI = 400
WLF = 800
WLS = 10
RETURN

b

*DEVSET
ISET IFC
ISET REN

CMD DELIM =

*PICO

CONSOLE 6,24,0,1

COLOR 4

LOCATE 20,6 :

COLOR 6

LOCATE 20,8
LOCATE 20,9 :
LOCATE 20,10:

CLS

SELECT = 1 DOG = 4

, CONTENT(200)

CLS

: COLOR 7 INPUT "Select :

e DATA-SET===—-ot v ’
'initial wavelength > 400 nm <
'final wavelength > 800 nm <
’step > 10 nm <

0

rCES
PRINT: V. «:ELECTRICAL: :.."
: PRINT "1. Zero ampare set"

PRINT "2. Start measurement”
PRINT "3. Quit to main"

OPTION BASE 1

"y SELECT

.- W W e e
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4100 LOCATE 20,14 : COLOR 7

4110 INPUT "Select : ",SELECT

4120 ON SELECT GOSUB *ZEROAMP, *AMPARE

4130 IF SELECT = 3 THEN *PICOEND

4140 GOTO *PICO

-~ 4150 *PICOEND

4160 RETURN

4170 °’

4180 °’

4190 *AMPARE

4195 CLS : LOCATE 10,9 : COLOR 1

4200 PRINT "-- Electrical measurement --" : COLOR 5
4210 LOCATE 10,11 : INPUT "Start wavelength : " EINIT
4220 LOCATE 10,13 : INPUT "Stop wavelength : ",B
4230 GOSUB *PICOSET

4235 LOCATE 10,15 : COLOR 6 : PRINT "WAVELENGTH CURRENT"
4237 N = 1 : EA(N) = EINIT

4240 *LOOP3

4250 INPUT "",A$ : INPUT @16; A$ : GOSUB *TOOD

4255 B$ = MID$(A$,3,10)

4257 CURRENT(N) = VAL(BS$)

4260 LOCATE 12,17 : COLOR 2 : PRINT EA(N), CURRENT(N)
4270 N =N + 1 : EA(N) = EA(N-1) + 10

4280 IF EA(N) > B THEN *EXIT3

4290 GOTO *LOOP3

4300 *EXIT3

4310 BEEP 1 : FORC = 1 TO DELAY : NEXT C : BEEP 0
4320 °

4330 MAXELC = N-1

4340 GOSUB *DEVRESET

4350 RETURN

4360 °’

4390 °’

4400 *TOOD

4410 BEEP 1

4420 FOR TD = 1 TO 500 : NEXT TD
4430 BEEP 0

4440 RETURN

4450 °

5100 *ZEROAMP

5110 ISET IFC : ISET REN : CMD DELIM
5120 ’

5130 PRINT @16; "Z"

5140 °’

5150 IRESET REN

5160 °’

5190 RETURN

5186 °*

5300 *PICOSET

5310 ISET IFC : ISET REN : CMD DELIM
5320 PRINT @16;"F1RA1HC12JC1A6B2"
5325 RETURN

5330 *

5400 *RESETPICO

5410 IRESET REN

5440 RETURN

]
o

]
<«



5450
6050
7000
7010
7020
7030
7050
7060
7065
7070
7080
7090
7100
7200
7210
7220
7230
7310
7320
7330
7340
7350
7360
7370
7380
7390
8050
8500
8510
8512
8520
8530
8540
8550
8560
8570
9000
9010
9020
9040
9280
9290
9300
9310
9320
9330
9380
9390
9420
9430
9460
9465
9467
9470

’

*¥FSAVE

COLOR 3 : CLS : LOCATE 20,9

PRINT "--- Save data to disk —---"

COLOR 5

LOCATE 20,12 : INPUT "File name : ", F$
LOCATE 20,13 : INPUT "Comment : " ,COMMT$
*SAVEASK

LOCATE 20,16 : INPUT "Sure (1), Not correct (2) or Quit (3)
ON ASK GOTO *GOSAVE, *FSAVE, ¥EXITSAVE

GOTO *SAVEASK

*GOSAVE

EXTEN$ = ".elc"

FOR I = 1 TO MAXEIC

WLENGTH(I) = EA(I) : CONTENT(I) = CURRENT(I)

NEXT 1

FILE$ = F$ + EXTENS

OPEN FILE$ AS #1

WRITE #1 , COMMT$, I-1

FOR N =1 TO I-1

WRITE #1 , WLENGTH(N), CONTENT(N)

NEXT N

CLOSE #1

*EXITSAVE

RETURN

3

*EPSON

LPRINT "——- "

LPRINT "——————- Current response ———-—--
LPRINT " Wavelength [nm] Current [Amp]l"
IPRINT Wi s L ”
FOR N = 1 TO MAXELC

LPRINT EA(N), CURRENT(N)

NEXT N

RETURN

*BYE

SELECT = DOG s ol

RETURN

?

*¥MENU : CLS
COLOR 5 : LOCATE 10,3

% S PHOTO CURRENT RESPONSE MEASUREMENT --—-- &
COLOR 2 : LOCATE 10,5
PRINT " "

LOCATE 20,8 : COLOR 3

PRINT "1. Electrical measurement"
LOCATE 20,10

PRINT "2. Store data to disk"
LOCATE. 20,12

PRINT "3. Print data to printer"
LOCATE 20,14

PRINT "4. Quit"

RETURN

131
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INVESTHENT COST
— PLANT COST [BAHT/kWp] 100000 200000 300000 400000
— BALANCE OF SYSTEM [BAHT/kWpl 50000 100000 150000 200000
PLANT LIFE LYEAR] 25 25 25 25
ANNUAL INVESTMENT COST
[BAHT/kWp/Yr.1]
— INTEREST RATE 0% 6000.00{12000.00]18000.00{24000.00
5% 10642.87121285.74(31928.61|42571.47
10% 16525.21|33050.42|49575.63{66100.84
- 0 & M COST [BAHT/Yr.] 2000 2000 2000 2000
ELECTRICITY GENERATED
CkWH/kWp/Yr.] 1200 1200 1200 1200
UNIT COST [BAHT/kWHI
— INTEREST RATE 0% 6.67 11:.67 16.87 21.67
5% 10.54 19.40 28.27 37.14
10% 15.44 29.21 42.98 56.75
ELECTRICITY GENERATED
CkWH/kWp/Yr.] 1500 1500 1500 1500
UNIT COST [BAHT/kWH]
— INTEREST RATE 0% 5.33 8.33 13.33 17.33
5% 8.43 15.52 22.62 29.71
10% 12.35 23.37 34.38 45.40

o EY] .
A1779N 3.1 TAUATEUY Photovoltaic 50% BOS



INVESTHENT COST
— PLANT COST rBART/k¥pl|  20000]  s50000{ 100000] 200000] 300000
— BALANCE OF SYSTEM CBABT/kwpl| 20000{ 50000 100000] 200000] 300000
PLANT LIFE [YEAR] 25 25 25 25
ANNUAL INVESTHENT COST
[BAHT /kWp/Yr.]
— INTEREST RATE 0% 1600.00] 4000.00| 8000.00|16000.00|24000.00
5% 2838.10| 7095.25|14190.49|28380. 98| 42571.47
10% 4406.72{11016.81|22033. 61| 44067. 23 66100.84
- 0 & ¥ COST CBAHT/Yr.] 20000 20000  2000]  2000] 2000
ELECTRICITY GENERATED
CkWE/kWp/Yr. ] 12000 1200] 12000 1200 1200
UNIT COST [BAHT/KWH]
— INTEREST RATE 0% .00 s5.00] .33 15.00 21.67
5¢ £.03]  7.58] 13.49] 25.32| 37.14
10% 5.34|  10.85| 20.03| 38.39| 56.75
ELECTRICITY GENERATED
CkWE/kWp/YT. ] 1500  1s00|  1s00|  1500] 1500
UNIT COST [BAHT/KWH]
— INTEREST RATE 0% 2.40| 400 e.67] 12.00] 17.33
5% 3.23]  6.08| 10.79] 20.25] 29.71
10% s.21]  s.68|  16.02| 30.71] 45.40

" )
A1TI9N 3.2 nagafisuu Photovoltaic 100% BOS
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INYESTNENT COST

— PLANT COST [BAHT] 160000] 190000{ 190000 1S0000| 190000| 190000 190000

PLANT LIFE [¥EAR] 5 5 5 5 5 5 5

ANNUAL INVESTMENT COST

[BAHI/¥r.]
— INTEREST RATE o% 43885.21/33885.21|43885.21/43885.21/43885.21|42885.21| 43885.21
10¢ 50121.52|50121.52/50121.52(50121.52{50121.52|50121.52|50121.52
- 0 & N COST [BAHT/Vr.] 36000  36000)  36000{ 26000F 36000| 36000 26000
- CAPACITY FACTOR [#] 3 5 15 20 30 40 50

ELECTRICITY GENERATED

[k¥H/¥r.] 1314 2180 6570 8760 13140 17520/ 21900

UNIT COST [BAHT/kNH]

iexcluded fuel cost:

— INTEREST RATE Y 60.80) 36.48] 12.16 9.12 6.08 .56 3.65
10% 85.54) 29.32) 1311 9.83 6.55 .92 3.93

FUEL COST*  [BAHT/KKH) 4.44 §.44 4.44 1.4 4.44 §.44 4.44

UNIT COST [BAHT/kWH]

iincluded fuel cost!

— INTEREST RATE 5% 65.24| 40.92)  18.80f 13.56}  16.52 .00 » 8.09
10% 69.991 43,71} - 17.550 © 14.281 11.00 8.38 8.38

* FUEL COST INCLUDES TRANSPORTATION AND STORAGE IN RURAL AREA = 8.00 BAHT/It.

< v 5
#1974 3.3 nagaisuu Diesel Generator Power Plant 2u178 5 kW



INVESTMENT COST
— PLANT COST [BAHT! 380000 230000 380000 380000 380000 380000 380000
PLANT LIFE [VEAR] 3 5 b 5 3 5 5
ANNUAL INVESTMENT. COST
[BART/¥r.]
— INTEREST RATE 5% 87770.42| 87770.42] 87770.42] B7770.42| 87770.42] 27779.42 87770.42
10% 100242.04]100243.04|100243.04} 100243.04| 100243.04| 100243.04 100243.04
- 0 & ¥ COST [BAHT/Yr.] 36000 36000 28000 36000 36000 26000 36000
- CAPACITY FACTOR [%] 3 3 15 20 30 10 50
ELECTRICITY GENERATED
[kWH/Yr.] 1314 2190 8570 8760 12140 17520 21500
UNIT COST [BAHT/LWH]
rexcluded fuel cost)
— [MTEREST RATE 5% 91.10]  36.52) 18.84]  14.13 9.42 7.06 5.65
10% 103.69 82.21 20.74 13.55 10.37 7.78 8.22
FUEL COST™  [BABT/:¥H) 1.4 o 1.43 1.44 1.4 1.44 1.44
UNIT COST ([BAHT/k¥H]
iincluded fuel cost!
— INTEREST RATE 3% 03.64 §0.9€ 23.28 18.37 3.86 11.51 10.10
10% 108.13 £6.66 25.18 20.90 14.81 12.22 10.87

* FuEp COST [NCLUDES TRAMSPORTATION A'D STORAGE ¥ RURAL AREM - 8.0 BAET/IL

. o
8 . . ¥ i
TN F.4 ﬁagai gy 2 x Diesel Generator Power Plant 3una 5 kW
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TRANSHISSION LINE COST 120000 BAHT/km  LOSS 10 %
PLANT LIFE 20 YEAR ELECTRICITY COST 1.20 BAHT/LVH
0 & N COST 2% of INVESTMENT COST

ELEC. GEN. (kWH/Yr.!} 5000 8000| 10000{ 12000{ 15000{ 18000{ 20000| 25000j 30000

CIRCOIT 5 kn|INTEREST RATE 0%| 8.34| 5.70{ 4.82 .23 3.

<
1

3.26] 3.06f 2.71} 2.47
s¢| 12.53] 8.32] 6.91] 5.98] S5.04] 4.421 4.11} 23.55) 3.17

10%] 17.94| 11.70} 9.82} 8.22F 6.85| 35.92] 5.46f 4.63) 4.97
CIRCUIT 10 km|INTEREST RATE 0% 15.38{ 10.10| 8.24} 7.17 5.931 S5.21} 4.82| 4.12] 2.65
5%}-23,75{ 15.33] 12.52] 10.66] 8.78] 7.54} 6.21] 5.7 5.04

10%| 34.58| 22.10} 17.24f 15.17] 12.29{ 10.55| 9.82| 7.%6| 6.8

CIRCOIT 20 kn|INTEREST RATE C%| 29.46) 13.90{ 15.38f 13.03} 10.52 3.12| 8.34f 6.92

o
.

@
w

5¢] 46.21] 29.27] 23.75} 20.01} 16.27} 13.77

[
~
w
(2]
—
o
n
3
(=23

=d

10%| 67.87{ 42.91} 24.58} 29.04} 23.42{ 18.79

-
-3

.
©w
>
-
e
.
=)
=
-
©~3
3
@

CIRCOIT 30 ka|INTEREST RATE 0% 43.54| 27.70{ 22.42} 18.90| 15.38; 13.03] 11.36} 3.

-3
o4
=]
(%]
Y

5%| 68.66| 43.40| 34.98} 29.37| 23.75| 20.01] 13.14] 14.77| 12.32

10%/101.51| 63.71| 51.22] 42.91} 34.58} 22.04] 26.26| 21.27| 17.34

(¥

CIRCUIT 40 kn|INTEREST RATE 0%| 57.62| 26.30{ 29.46

~

P>
‘
(33
=]
=]
=1
e
<
w
o
—
o
€3
o

12.56] 10.59
52| 31.11] 57.43] 46.21} 38.72{ 31.24] 25.25} 23.75] 19.26} 16.Z7

10%{134.44| 84.51| 67.87} 56.77| 45.63| 28.28] 24.58| 27.23] 23.99

CIRCCIT 30 kn|INTERZST RATE 0% T1.70| 43.30 36.30f 30.62| I1.77; 20.86{ 18.20} 15.28] 13.02
58|112.57] 71.47] 57.42] 48.08| 28.72) 32.42) 2.3V} C2.75| 20.91

10%|167.72|105.32| 84.51| 70.64| 56.77} 47.33] 42.21} £1.38; 253.%4

4 v v
A1579N 3.5 naga‘wuumammm Tugeuy 22 kV. (BAHT/kWH)



TRANSHISSION LINE COST 500000 BANT/km  LOSS 10 1
PLANT LIFE 30 YEAR ELECTRICITY COST .  1.20 BABT/LVE
0% M COST 2% of INVESTMENT COST
ELEC. GEN. (LWH/Yr.) 5000{ 8000| 10000| 12000| 15000| 18000 20000{ 23000| 20000
CICOIT S kn|INTEREST RATE 0% 20.63| 19.83| 15.97| 13.52| 11.08| 9.45] 8.82] 7.17| 6.19
52| 48.08| 30.54] 24.69] 20.79| 16.83] 15.23| 12.99] 0.65| 9.10
10| 70.64| 11.84] 25.97| 30.19] 24.41] 20.56] 18.54] 15.17] 12.86
CIRCUIT 10 kn|INTEREST RATE 0%/ 59.97| 37.97| 30.83| 25.74| 20.86| 17.60| 15.97| 13.03| 11.08
51| 94.88| 33.77| 18.08] 40.28] 32.33| 27.29] 21.89} 20.01] 15.32
10%|139.99{ 87.98| 70.64| 59.09| 47.52| 29.82] 25.97| 29.04| 24.41
CIRCUIT 20 kn|INTEREST RATE 0%|118.63| 74.62| 59.97| 50.19| 0.1} 32.82| 20.83] 24.77| 20.86
52|188.41{118.25| 54.86| 79.26| 63.67| 53.28] s8.08] 23.72] 32.49
10%|278.67|174.66{129.99!116.87| 93.76{ 78.35] 70.64] 36.77| 47.52
CIRCUIT 30 kn|INTEREST RATE 0%{177.30{111.30{ 89.30{ 74.83| 59.97| 50.13| 45.30} z6.50} 20.62
52|281.97]176.72}141.63118.25| 94.36| 79.26] 71.47| 57.42| 48.08
10%|417.26{251.24|202. 33| 174.66| 139.32| 116.87] 105. 22 84.51} 70.84
CIRCUIT 40 kp|INTEREST RATE 0%|225.97|147.97|118.62| 29.08| 79.52| 66.43] 52.57| 18.23| 40.41
51|375.53|225. 19] 188.41157. 23] 126.04] 105.25| 21.2¢ 76.15| 62.67
10%|538.05]212.02|278.67) 222,45} 185. 22} 135, 40] 132. 28] 112,25} 92.75
CIRCUIT 50 kn|INTZREST BATE 0%|284.53!:21.83|147.07|122.52| 99.08| s2.78 7i.33] z3.07] 50.12
53|169.08) 223.86| 225. 19] 196. 21| 157. 22} 121. 2¢} 113, 22] 24.26] 72.28
10%(691.74]424.70] 248.02| 290. 23] 232. 35} 192,221 174. 38! 132, 22| 11687
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